









Traditional Wound Care Products

Quality and value in a complete line

Whether you're looking for gauze bandages, wound dressings, cartoon character adhesive bandages, specialty dressings, tapes or adhesives – whatever you need for wound care, you can get it from Medline.

And with substantial inventory and warehouses all over the world, Medline can serve 98.2 percent of the marketplace within two days. Plus, we manufacture 70 percent of the products we sell, which translates into cost savings for you.

Choose from one of the largest selections of latex-free products and sterile gauze that meets USP Type VII regulations. And to ensure the very highest standards of quality, all Medline wound care products are manufactured in factories that follow FDA Quality System Regulations to the letter.

If you ask a question about wound care products, you'll get an answer right away. And if you need a wound care product tomorrow, we'll get it to you!



Table of Contents

Gauze Bandages	
Barrier Dressings	4
Sterile Woven Gauze Sponges	5
Non-Sterile Woven Gauze Sponges	6
X-Ray Detectable Woven Sponges	6
	6
Eye Pads	
Non-Woven Avant Deluxe™ Gauze Sponges	7 – 8
Non-Woven Avant Gauze® Sponges	8
Drain Sponges	8
Sterile Post-Op Gauze Sponges	9
Bandages/Rolls	
Abdominal (ABD) Pads	10
Cotton and Rayon Balls	10
Cotton Rolls	11
Non-Adherent Pads	11
Bulkee II® Wound Dressings	
Sof-Form® Conforming Bandages	14
Elastic Net	15
Elastic Bandages	16 - 17
Specialty Dressings	
Wytex Undercast Padding	18
Syn-Tex Undercast Padding	18
Protective Sleeves	18
	19
Burn Dressing	
Triangular Bandage	19
Nursing Pad	19
Sterile Disposable Drape	19
Co-Flex® Cohesive Bandage	20 - 21
Montgomery Strips	21
Adhesive Surgical Dressing	21
Impregnated Gauze	
CURAD® Petrolatum	22
CURAD® Xeroform	22
CURAD® Oil Emulsion Dressing	23
_	
CURAD® Packing Strips	23
T 0.4 H :	
Tapes & Adhesives	
CURAD® Tapes	
CURAD® Medi-Strips® Wound Closure Strips	26
CURAD® Adhesive Bandages	27 – 33
CURAD® Nasal Tube Fasteners	29
Miscellaneous	
First Aid Kits	34
Cross-Reference Guide	35 - 47



X-Ray Detectable Woven Gauze Sponges See Page 6



Sof-Form® Conforming Bandages See Page 14



CURAD® Petrolatum Gauze Dressing See Page 22



CURAD® Paper Tape See Page 24

Medline BIOGUARD® Barrier Dressings

Effective Against MRSA

Medline BIOGUARD® is a new line of gauze-based dressings. In-vitro testing has shown that the products are effective against 12 common bacteria, including MRSA, *E. Coli* and *Pseudomonas Aeruginosa*.¹ The active component is a non-toxic, high molecular weight cationic polymer called Poly (Diallyl Dimethyl Ammonium Chloride) or p-DADMAC contained within the dressings.

Medline BIOGUARD® barrier products act as a physical barrier to outside contaminants and do not act on the surface or the interior of the wound nor do they contain antimicrobial agents that act on the body. These dressings are not intended as a treatment for clinical infection. If signs of clinical infection are present, consult a physician. Available by prescription only. **Latex-Free.**

The active components in Medline BIOGUARD® barrier dressings begin working within one minute and maintain their efficacy over time, as shown on the chart.

Reference:

1. Data on file.

Item#	Description	Quantity
Barrier Bulkee I	I [®] Gauze Rolls, 100%	cotton, Stretched, Sterile
NON25865AM	4½" x 4.1 yds, 6-ply (11.4 cm x 3.75 m)	1 roll/pk, 100 rolls/cs
Barrier Gauze S	ponges, 100% cotton	, Sterile 2's USP Type VII
NON21420AM	2" x 2", 8-ply (5.08 x 5.08 cm)	2 ea/pk, 50 pk/bx, 1500 pk/cs, 3000 ea/cs
NON21424AM		2 ea/pk, 25 pk/bx, 600 pk/cs, 1200 ea/cs
Barrier Gauze Sponges, 100% cotton, Sterile 10's in Plastic Tray USP Type VII		
NON21426AM	4" x 4", 12-ply (10.16 x 10.16 cm)	10 ea/tray, 128 trays/cs, 1280 ea/cs
Barrier Bulkee® Super Fluff Sponges, 100% cotton, Sterile 2's in Soft Pouch Package		
NON25852AM		2 ea/pk, 20 pk/bx, 12 bx/cs, 480 ea/cs
Barrier Bulkee® Super Fluff Sponges, 100% cotton, Sterile 5's in Soft Pouch Package		
NON25853AM		5 ea/tray, 10 pk/bx, 12 bx/cs, 600 ea/cs



NON25865AM 41/2" x 4.1 yds Bulkee II® Gauze Bandage

Medline BIOGUARD® kill rates over time¹			
Time	Staph. Aureus	E. Coli	Pseudomonas Aeruginosa
1 min.	99.98780%	99.99842%	99.98205%
10 min.	99.99415%	99.99763%	99.98564%
20 min.	99.99268%	99.99938%	99.99397%
30 min.	99.99878%	99.99972%	99.99746%
60 min.	99.9999%	99.99946%	99.99936%
4 hrs.	99.9999%	99.99981%	99.99996%
8 hrs.	99.9999%	99.99997%	99.99996%
12 hrs.	99.9999%	99.99997%	99.99996%

Item#	Description	Quantity
Barrier Bulkee® Super Fluff Sponges, 100% cotton, Sterile 10's in Plastic Tray		
NON25854AM	6" x 6¾" (15.24 x 17.1 cm)	10 ea/tray, 480 ea/cs
Barrier Avant Dr	rain Sponge, rayon/po	olyester blend, Sterile 2's
NON256000AM	, - 1-)	2 ea/pk, 25 pk/bx, 12 bx/cs, 600 ea/cs
Barrier Packing	Strips, 100% Cotto	n, Sterile
NON7831AM	1/4" x 1 yd (0.62 x 0.91 cm)	10 ea/bx, 5 bx/cs, 50 ea/cs
NON7832AM	½" x 1 yd (1.27 x 0.91 cm)	10 ea/bx, 5 bx/cs, 50 ea/cs
NON7833AM	1" x 1 yd (2.54 x 0.91 cm)	10 ea/bx, 5 bx/cs, 50 ea/cs
Barrier Non-Ad	herent Pads, rayon/p	oolyester blend, Sterile
NON25720AM	3" x 8" (7.62 x 20.3 cm)	50/bx, 12 bx/cs, 600/cs
Barrier Dressin rayon/polyeste	g Conforming Banda r blend, Sterile	ige,
NON25498AM	4" x 4.1 yd (10.16 cm x 3.75 m)	1 roll/pk, 100 rolls/cs

Woven Gauze Sponges

100% Cotton

The best for traditional wound care

These 100% cotton sponges are ideal for wound dressings, wound packing and general wound care. Our strictly controlled manufacturing process assures clean, debris-free packing with folded edges to prevent unraveling. Sterile 2's are packed in coated paper envelopes to reduce fiber debris. This easy-open envelope is also carefully sealed to prevent the intrusion of dust and contaminants. Sterile 10's feature strong rigid trays. Also available in non-sterile bulk packs. Latex-Free.

Item#	Description	Quantity
Gauze Spon	ges, Sterile, 2's USP Typ	pe VII
NON21420	2" x 2", 8-ply (5.08 x 5.08 cm)	50 pk/bx, 30 bx/cs, 1,500 pks/cs
NON21422	3" x 3", 12-ply (7.62 x 7.62 cm)	40 pk/bx, 30 bx/cs, 1,200 pks/cs
NON21448	4" x 4", 8-ply (10.16 x 10.16 cm)	50 pk/bx, 12 bx/cs, 600 pks/cs
NON21424	4" x 4", 12-ply (10.16 x 10.16 cm)	25 pk/bx, 24 bx/cs, 600 pks/cs
NON21842	8" x 4", 12-ply (20.3 x 10.16 cm)	25 pk/bx, 20 bx/cs, 500 pks/cs

Gauze Sponges, Sterile 10's (Trays) USP Type VII

4" x 4", 12-ply	10/tray, 128 trays/cs,
(10.16 x 10.16 cm)	1280/cs
4" x 4", 16-ply	10/tray, 128 trays/cs,
(10.16 x 10.16 cm)	1280/cs
4" x 4", 8-ply	10/tray, 128 trays/cs,
(10.16 x 10.16 cm)	1280/cs
	(10.16 x 10.16 cm) 4" x 4", 16-ply (10.16 x 10.16 cm) 4" x 4", 8-ply



NON21424 4" x 4" Sterile Woven Gauze Sponge NON25412 4" x 4" Non-Sterile Woven Gauze Sponge

Item#	Description	Quantity
Gauze Sponge	s, Non-Sterile (Bulk)	
NON25208	2" x 2", 8-ply	200/sleeve, 25 sleeves/cs,
	(5.08 x 5.08 cm)	5000/cs
NON25212	2" x 2", 12-ply	200/sleeve, 40 sleeves/cs,
	(5.08 x 5.08 cm)	8000/cs
NON25312	3" x 3", 12-ply	200/sleeve, 20 sleeves/cs,
	(7.62 x 7.62 cm)	4000/cs
NON25408	4" x 4", 8-ply	200/sleeve, 20 sleeves/cs,
	(10.16 x 10.16 cm)	4000/cs
NON25412	4" x 4", 12-ply	200/sleeve, 10 sleeves/cs,
	(10.16 x 10.16 cm)	2000/cs
NON25416	4" x 4", 16-ply	200/sleeve, 10 sleeves/cs,
	(10.16 x 10.16 cm)	2000/cs
NON25812	8" x 4", 12-ply	200/sleeve, 10 sleeves/cs,
	(20.3 x 10.16 cm)	2000/cs

X-Ray Detectable Woven Gauze Sponges

100% Cotton

Low linting, fluffy and highly absorbent, our X-ray detectable sponges are made from 100% cotton. Available in multiple sizes and plies. This product features dual X-ray detectable barium sulfate strands in a unique figure 8 design (for easy detection) layered into the sponges. **Latex-Free.**

Item#	Description	Quantity
Gauze Sponge	es, Sterile (Trays) US	P Type VII
NON21430LF	4" x 4", 16-ply (10.16 x 10.16 cm)	10 sponges/tray, 128 trays/cs, 1280/cs
NON21432LF	8" x 4", 12-ply (20.3 x 10.16 cm)	10 sponges/tray, 80 trays/cs, 800/cs
NON21433	4" x 4", 32-ply (10.16 x 10.16 cm)	10 sponges/tray, 48 trays/cs, 480/cs
NON21438	8" x 4", 24-ply (20.3 x 10.16 cm)	10 sponges/tray, 20 trays/cs, 200/cs
NON21434	3" x 3", 12-ply (7.62 x 7.62 cm)	10 sponges/tray, 100 trays/cs, 1000/cs

X-Ray Detectable Bandage Roll, Sterile

NON25865XR	4½" x 4.1 yds	100 rolls/cs
	(11.43 cm x 3.75 m)	

Gauze Sponges, Non-Sterile (Bulk)

NON25430	4" x 4", 16-ply	10 sponges/band,
	(10.16 x 10.16 cm)	100/sleeve, 2000/cs



NON21430LF 4" x 4" Sterile X-Ray Detectable Woven Gauze Sponges

Eye Pads

These sterile Eye Pads are made with a soft non-woven cover, over an absorbent cotton filler. Compressed edges help reduce linting. **Latex-Free.**

Item#	Description	Quantity
Eye Pads, Ste	rile 1's	
NON21600	15/8" x 25/8" (4.1 x 6.7 cm)	1/pk, 50 pk/bx, 600/cs
NON21601	2½" x 25%" (5.4 x 6.7 cm)	1/pk, 50 pk/bx, 600/cs



NON21600 Eye Pads

Our most absorbent line of non-woven sponges

Avant Deluxe™ Gauze Sponges

Rayon/Polyester Blend

This deluxe line of non-woven sponges are a unique rayon and polyester blend to provide strength and absorbency. The increased material weight helps to provide a more efficient sponge than our traditional Avant line by reducing the number of sponges that have to be used for each procedure. These sponges offer unique benefits compared to traditional cotton gauze:

- low linting
- increased absorbency
- · fast wicking
- economical
- less traumatic to granulating tissue
- Latex-Free

Item#	Description	Quantity
Avant Deluxe	Gauze Sponges, Steri	le 2's
NON264442	4" x 4", 4-ply (10.16 x 10.16 cm)	50 pk/bx, 12 bx/cs, 600 pks/cs

Avant Deluxe Gauze Sponges, Non-Sterile (Bulk)

NON26223	2" x 2", 3-ply (5.08 x 5.08 cm)	200/sleeve, 40 sleeves/cs, 8000/cs
NON26224	2" x 2", 4-ply (5.08 x 5.08 cm)	200/sleeve, 40 sleeves/cs, 8000/cs
NON26334	3" x 3", 4-ply (7.62 x 7.62 cm)	200/sleeve, 20 sleeves/cs, 4000/cs
NON26443	4" x 4", 3-ply (10.16 x 10.16 cm)	200/sleeve, 10 sleeves/cs, 2000/cs
NON26444	4" x 4", 4-ply (10.16 x 10.16 cm)	200/sleeve, 10 sleeves/cs, 2000/cs



NON26223 2" x 2" Non-Sterile Avant Deluxe™ Gauze Sponges **NON264442** 4" x 4" Sterile Avant Deluxe™ Gauze Sponges

Avant Gauze® Non-Woven Sponges

Rayon/Polyester Blend

Avant Gauze® is Medline's standard non-woven dressing. Compared to traditional cotton gauze, Avant Gauze® produces less lint and is less traumatic to fragile granulating wound tissue because it's virtually non-adherent. It also has significantly faster wicking ability which promotes a healthy healing environment. Discover the perfect balance between strength and absorbency in this rayon/polyester blend gauze. **Latex-Free.**

Item#	Description	Quantity
Avant Gauze® Non-Woven Sponges		es, Sterile 2's
NON21224	2" x 2", 4-ply (5.08 x 5.08 cm)	50 pk/bx, 30 bx/cs, 1500 pks/cs
NON21334	3" x 3", 4-ply (10.16 x 10.16 cm)	40 pk/bx, 30 bx/cs, 1200 pks/cs
NON21444	4" x 4", 4-ply (10.16 x 10.16 cm)	50 pk/bx, 12 bx/cs, 600 pks/cs
NON21446	4" x 4", 6-ply (10.16 x 10.16 cm)	25 pk/bx, 12 bx/cs, 300 pks/cs

Avant Gauze® Non-Woven Sponges, Sterile 10's (Trays)

NON21449	4" x 4", 4-ply	10/tray, 128 trays/cs,
	(10.16 x 10.16 cm)	1280/cs

Avant Gauze® Non-Woven Sponges, Non-Sterile (Bulk)

NON25223	2" x 2", 3-ply (5.08 x 5.08 cm)	200/sleeve, 25 sleeves/cs, 5000/cs
NON25224	2" x 2", 4-ply (5.08 x 5.08 cm)	200/sleeve, 40 sleeves/cs, 8000/cs
NON25334	3" x 3", 4-ply (7.62 x 7.62 cm)	200/sleeve, 20 sleeves/cs, 4000/cs
NON25443	4" x 4", 3-ply (10.16 x 10.16 cm)	200/sleeve, 20 sleeves/cs, 4000/cs
NON25444	4" x 4", 4-ply (10.16 x 10.16 cm)	200/sleeve, 10 sleeves/cs, 2000/cs
NON25449	4" x 4", 4-ply (10.16 x 10.16 cm)	25/sleeve,100 sleeve/cs, 2500/cs

Avant Gauze® Drain Sponges Special fenestration for easy application

This sponge features a unique fenestration which allows it to lay flat when wrapped around a drainage tube. Without it, the sponge will pucker, decreasing effectiveness by allowing fluids to pool around the drain tube. It's a simple feature that most other drain sponges do not offer. Includes all the benefits of non-woven Avant Gauze®. Each 6-ply rayon/polyester sponge is highly absorbent, low-linting and fast wicking to wound beds. **Latex-Free.**

Item#	Description	Quantity
Avant Gauze® D	Drain Sponges, Sterile 2's	
NON256000	4" x 4", 6-ply (10.16 x 10.16 cm)	25 pk/bx, 300 pk/cs, 12 bx/cs
NON256001	2" x 2", 6-ply (5.08 x 5.08 cm)	35 pk/bx, 700 pk/cs, 20 bx/cs



NON256000 4" x 4" Sterile Avant Gauze® Drain Sponge

100% Cotton Drain Sponges

If you're looking for natural breathability in a drain sponge, cotton is the right choice. Made of 100% cotton, they are pre-cut for your convenience. **Latex-Free.**

Item#	Description	Quantity
100% Cotton Drain Sponges, Sterile		
NON255000	4" x 4", 16-ply (10.16 x 10.16 cm)	1/pk, 25/bx, 12 bx/cs



Post-Op Gauze Sponges

More absorbent than cotton gauze sponges, these post-op sponges are filled with extra-absorbent cellulose fibers for those situations that require increased absorbency. The outer layer is constructed of our absorbent non-woven Avant Gauze® fibers. Packed in sterile 2's. Latex-Free.

Item#	Description	Quantity
Post-Op Gau	auze, Sterile 2's	
NON21442	4" x 4" (10.16 x 10.16 cm)	25 pk/bx, 24 bx/cs, 600 pks/cs
NON21441	4" x 3" (10.16 x 7.62 cm)	25 pk/bx, 24 bx/cs, 600 pks/cs

Post-Op Gauze, Non-Sterile (Bulk)

NON25442	4" x 4" (10.16 x 10.16 cm)	100/sleeve, 20 sleeves/cs, 2000/cs
NON25441	4" x 3" (10.16 x 7.62 cm)	100/sleeve, 20 sleeves/cs, 2000/cs

Abdominal (ABD) Pads

Features extra absorbency and wicking

Medline's super absorbent abdominal pads feature a soft non-woven outer layer that quickly wicks fluid to a cellulose center. This thick layer of cellulose quickly absorbs and disperses fluids laterally to prevent pooling. Hydrophobic back impedes strike-through and all edges are sealed to prevent linting. **Latex-Free.**

Item#	Description	Quantity
Abdominal (Al	BD) Pads, Sterile 1's	
NON21450	5" x 9" (12.7 x 22.9 cm)	25/bx, 16 bx/cs, 400/cs
NON21453	8" x 7½" (20.3 x 19.1 cm)	20/bx, 12 bx/cs, 240/cs
NON21454	8" x 10" (20.3 x 25.4 cm)	18/bx, 20 bx/cs, 360/cs

Abdominal (ABD) Pads, Non-Sterile (Bulk)

NON21451	5" x 9" (12.7 x 22.9 cm)	576 pads/cs
NON21452	8" x 7½" (20.3 x 19.1 cm)	576 pads/cs
NON21456	8" x 10" (20.3 x 25.4 cm)	432 pads/cs
NON21457	12" x 16" (30.5 x 40.6 cm)	144 pads/cs



NON21450 5" x 9" Sterile ABD Pads

Item#	Description	Quantity	
Multi-Trauma Dres	Multi-Trauma Dressing (Sterile)		
NON21459	10" x 30" (25.4 x 76.2 cm)	50/cs	
DYNDDRAINPACK	Set includes: ABD Pads, 10" x 12" (1) (25.4 x 30.5 cm)	48 ea/cs	
	Bulkee Fluff Sponges, 4" x 4" (10.16 x 10.16 cm), 12 ply (6)		

Cotton Balls and Rayon Balls

Description

Item#

Cotton Balls, Sterile

Soft and absorbent. Designed for many uses around any facility. Latex Free.

Quantity

NON6101	Cotton balls, medium, 1" diameter (2.54 cm)	65 ea/bx, 48 bx/cs, 3120 ea/cs
Cotton Ball	s and Rayon Balls, Non-	Sterile
MDS21460	Cotton balls, medium, 1" diameter (2.54 cm)	2000 ea/bag, 2 bags/cs, 4000 ea/cs
MDS21461	Cotton balls, medium, 1" diameter (2.54 cm)	200 ea/bag, 20 bags/cs, 4000 ea/cs
MDS21462	Cotton balls, large, 11/4" diameter (3.18 cm)	1000 ea/bag, 2 bags/cs, 2000 ea/cs
MDS21463	Cotton balls, large, 11/4" diameter (3.18 cm)	50 ea/bag, 80 bags/cs, 4000 ea/cs
MDS21470	Rayon balls, medium, 1" diameter (2.54 cm)	2000 ea/bag, 2 bags/cs, 4000 ea/cs
MDS21472	Rayon balls, large,	1000 ea/bag, 2 bags/cs,

11/4" diameter (3.18 cm) 2000 ea/cs



CURAD® Non-Adherent Pads

This sterile, absorbent rayon/polyester pad will not interfere with granulating tissue by sticking to the lightly draining wound. The soft perforated film allows air to circulate and the absorbent pad allows the fluid to collect. It can easily be cut to fit any shape without separating. Latex-Free.

Item#	Description	Quantity			
Non-Adherent	Non-Adherent Pads, Sterile 1's				
NON25700	2" x 3", Sterile 1's (5.08 x 7.62 cm)	100/bx, 12 bx/cs, 1200/cs			
NON25710	3" x 4", Sterile 1's (7.62 x 10.16 cm)	100/bx, 12 bx/cs, 1200/cs			
NON25720	3" x 8", Sterile 1's (7.62 x 20.3 cm)	50/bx, 12 bx/cs, 600/cs			



Cotton Roll

One pound of 100% cotton wrapped and neatly rolled in paper. Highly absorbent surgical grade cotton is ideal for wound cleansing, application of medications, and padding of wound area.

Latex-Free.

Item#	Description	Quantity		
Cotton Roll, Sterile				
NON6028	1 lb. Roll (.5 kg)	10 rolls/cs		
Cotton Roll, Non-Sterile				
NON6027	1 lb. Roll (.5 kg)	25 rolls/cs		



NON6028 Cotton Roll

Bulkee II® Wound Dressings

Our finest and most popular cotton bandages



Bulkee II[®] 100% Cotton Gauze Bandages

Compare to Kerlix®*

Ideal for both primary and secondary wound care dressings. When used as a primary dressing, the open weave design provides fast wicking, absorbency and aeration. Bulkee II® has a tightly finished edge to reduce linting; and crimps for increased cushioning and patient comfort. The 6-ply Bulkee II® bandage stretches and conforms to a variety of patient needs. It performs exceptionally well in burn care applications. **Latex-Free.**

Item#	Description	Quantity		
Bulkee II® 100% Cotton Gauze Bandages, Sterile (Singles)				
NON25865	4½" x 4.1 yds, stretched (11.4 cm x 3.75 m)	100 rolls/cs		
NON25861	3.4" x 3.6 yds, stretched (8.6 cm x 3.30 m)	96 rolls/cs		
NON25850	21/4" x 3 yds, stretched (5.7 cm x 2.74 m)	12 ea/bx, 96 rolls/cs		

Bulkee II® 100% Cotton Gauze Bandages, Non-Sterile

NON25855	4½" x 4.1 yds, stretched	100 rolls/cs
	(11.4 cm x 3.75 m)	

 $^{^{\}ast}$ This product is not manufactured by Tyco Healthcare Group, makers of Kerlix® dressings, bandages and sponges.

Bulkee® Lite Conforming Bandage Compare to Kerlix® Lite*

This 100% crimped cotton 3-ply woven bandage is ideal for a secondary dressing to secure IV's, dressings, splints, or for providing mild compression. The bandage provides cushioning and a light stretch, which helps it to conform to difficult body contours. Latex-Free.

Item#	Description	Quantity		
Bulkee® Lite Co	Bulkee® Lite Conforming Bandage, Sterile (Singles)			
NON27496	2" x 3.5 yds, stretched (5.08 cm x 3.20 m)	12/bx, 8 bx/cs, 96/cs		
NON27497	3" x 4.1 yds, stretched (7.62 cm x 3.75 m)	12/bx, 8 bx/cs, 96/cs		
NON27498	4" x 4.1 yds, stretched (10.16 cm x 3.75 m)	12/bx, 8 bx/cs, 96/cs		
NON27499	6" x 4.5 yds, stretched (15.24 cm x 4.11 m)	6/bx, 8 bx/cs, 48/cs		

Bulkee® Lite Conforming Bandage, Non-Sterile (Bulk)

	<u> </u>	` '
NON27492	2" x 3.5 yds, stretched (5.08 cm x 3.2 m)	12/bag, 8 bx/cs, 96/cs
NON27493	3" x 4.1 yds, stretched (7.62 cm x 3.75 m)	12/bx, 8 bx/cs, 96/cs
NON27494	4" x 4.1 yds, stretched (10.16 cm x 3.75 m)	12/bx, 8 bx/cs, 96/cs
NON27495	6" x 4.5 yds, stretched (15.24 cm x 4.11 m)	6/bx, 8 bx/cs, 48/cs



NON27499 6" x 4.5 yds Sterile Bulkee® Lite Bandage

Bulkee® Super Fluff Sponges All the great features of Bulkee II® in a sponge Compare to Kerlix® Fluff Sponges*

Ideal loft, bulk and absorbency make the Bulkee® sponge an excellent primary dressing. It effectively manages exudate in and around the wound. Because of its strength and absorbency, this sponge is ideal for pre-op prepping and cleansing, debriding and packing. Latex-Free.

Item#	Description	Quantity	
Bulkee® Sup	er Fluff Sponges, Steri	ile	
NON25852	6" x 6¾", diagonally (15.24 x 17.1 cm)	2 sponges/pk, 20 pk/bx, 12 bx/cs, 480 sponges/cs	
NON25853	6" x 6%", diagonally (15.24 x 17.1 cm)	5 sponges/tray, 120 trays/cs, 600 sponges/cs	
NON25854	6" x 6%", diagonally (15.24 x 17.1 cm)	10 sponges/tray, 48 trays/cs, 480 sponges/cs	
NON25856	7%" x 8%", diagonally (19.7 x 22.2 cm)	2 sponges/pk, 25 pk/bx, 8 bx/cs, 400 sponges/cs	
NON25844	4" x 4", 12-ply (10.16 x 10.16 cm) sponges	2 sponges/pk, 25 pk/bx, 24 bx/cs, 1200 sponges/cs	
NON25884	4" x 4", 12-ply (10.16 x 10.16 cm) sponges	10 sponges/tray, 128 trays/cs, 1280 sponges/cs	
Bulkee® Super Fluff Sponges, Non-Sterile			

NON1167B	6" x 6¾"	100/bag, 1200/cs
	(15.24 x 17.1 cm)	

^{*}This product is not manufactured by Tyco Healthcare Group, makers of Kerlix® dressings, bandages and sponges.



NON25853 6" x 6.75" Bulkee® Super Fluff Sponges

Sof-Form® Conforming Bandages Compare to Kendall Conform®*

This premier quality bandage gently secures to any body contour without restriction of movement and accommodates an increase or decrease in swelling. The uniquely constructed weave and finished edges help eliminate unraveling and lint. The combination of rayon and polyester help the bandage to provide stretch memory when applied. It's a patient-safe dressing that renders a neat application each time. Ideal for secondary dressing applications. **Latex-Free**.

Item#	Description Quantity		
Sof-Form® Conforming Bandages, Sterile (Singles)			
NON254955	1" x 75", relaxed (2.54 x 190.52 cm)	12/bx, 8 bx/cs, 96/cs	
NON25496	2" x 75", relaxed (5.08 x 190.52 cm)	12/bx, 8 bx/cs, 96/cs	
NON25497	3" x 75", relaxed (7.62 x 190.52 cm)	12/bx, 8 bx/cs, 96/cs	
NON25498	4" x 75", relaxed (10.16 x 190.52 cm)	12/bx, 8 bx/cs, 96/cs	
NON25499	6" x 80", relaxed (15.2 x 203.2 cm)	6/bx, 8 bx/cs, 48/cs	

^{*}This product is not manufactured or distributed by Tyco Healthcare Group, makers of Conform® gauze bandages.

Tubular Gauze Bandages

Made of knitted 100% cotton, these white tubular bandages are available in a range of sizes to facilitate bandaging contoured parts of the body. They also can be used for dressing retention, for simple fractures, and for splinting. Supplied in 50-yd roll. Can be used with finger applicator NONTUB12. **Latex Free.**

Item#	Description	Quantity		
Tubular Gauz	Tubular Gauze Bandages			
NONTUB058	Small finger, toe, 50 yd, 5/8" (1.59 cm)	1 ea/bx		
NONTUB100	Large finger, toe, 50 yd, 1" (2.54 cm)	1 ea/bx		
NONTUB112	Small arm, hand, foot	1 ea/bx		
NONTUB258	Arm, lower leg, small thigh, 50 yd, 1½" (3.81 cm)	1 ea/bx		
NONTUB358	Leg, thigh, head, shoulder, 50 yd, 3%" (11.11 cm)	1 ea/bx		
NONTUB12	Finger Applicator	6 ea/bx		



NON25498 4" x 75" Sof-Form® Bandages

Item#	Description	Quantity		
Sof-Form® Co	Sof-Form® Conforming Bandages, Non-Sterile (Bulk)			
NON25491	1" x 75", relaxed (2.54 x 190.52 cm)	12/bag, 8 bags/cs, 96/cs		
NON25492	2" x 75", relaxed (5.08 x 190.52 cm)	12/bag, 8 bags/cs, 96/cs		
NON25493	3" x 75", relaxed (7.62 x 190.52 cm)	12/bag, 8 bags/cs, 96/cs		
NON25494	4" x 75", relaxed (10.16 x 190.52 cm)	12/bag, 8 bags/cs, 96/cs		
NON25495	6" x 80", relaxed (15.2 x 203.2 cm)	6/bag, 8 bags/cs, 48/cs		



NONTUB058 Tubular Gauze Bandages

Elastic Net

Pre-cut lengths for individual use now available! Compare to Surgilast®*

Favored by wound care nurses everywhere. This tubular retainer net holds dressings firmly in place without compression. It is an essential product for use with fragile, geriatric, pediatric, and at-risk skin, or those allergic to tape.

- Rayon/polyester knitted elastic net tube holds dressings firmly in place and reduces dressing time
- Soft, open weave does not constrict
- May use finger applicator NONTUB12 for sizes ½ - 2.
- Easily cut to customize length
- Accommodates virtually any part of the body from finger to double extra large torso
- Latex-free and neoprene free



astic Net



		, , , , , , , , , , , , , , , , , , , ,	Relaxed	- · · · · · · · · · · · · · · · · · · ·
Item#	Size	Stretched Width	Width	Description
Elastic Net,	25 yaı	rds stretched leng	th, 1 roll per b	ox
NONNET012	1/2	4" (10.2 cm)	%" (1.6 cm)	Small Fingers, toes, wrists, circumcision
NONNET01	1	6" (15.2 cm)	0.6" (1.5 cm)	Large fingers, toes, wrists
NONNET02	2	7 ² / ₃ " (19.5 cm)	0.8" (2 cm)	Small hand, arm, leg, foot
NONNET03	3	91/3" (23.7 cm)	1" (2.5 cm)	Med hand, arm, leg, foot, multiple fingers
NONNET04	4	11%" (29.6 cm)	1.2" (3 cm)	Lrg hand, arm, leg, foot
NONNET05	5	12%" (31.4 cm)	1.5" (3.8 cm)	Avg arm, small leg/knee
NONNET06	6	17" (61 cm)	1.9" (4.8 cm)	Lrg leg, amputation, arm board, small head
NONNET07	7	28%" (72.8 cm)	2.3" (5.8 cm)	Avg head, face, ears, neck
NONNET08	8	311/3" (79.6 cm)	2.8" (7.1 cm)	Small chest, back, perineum, axilla, shoulder, large head
NONNET09	9	35" (88.9 cm)	3.2" (8.1 cm)	Med chest, back, perineum, axilla, shoulder
NONNET10	10	41" (93.1 cm)	3.6" (9.1 cm)	Lrg chest, back, perine- um, axilla, shoulder
NONNET11	11	46" (101.6 cm)	4.3" (10.9 cm)	XL chest, back, perine- um, axilla, shoulder
NONNET12	12	56" (142.2 cm)	4.7" (11.9 cm)	XXL chest, back, perineum, axilla, shoulder
NONNET22	22	80" (203.2 cm)	8" (20.3 cm)	Bariatric/custom size

Pre-Cut Elastic Net

Individually wrapped pre-cut sizes of Elastic Net provide ease of use, ideal for home health settings.

		Stretched	
Item#	Size	Width	Quantity
Individual 24" L	_ength	s (Relaxed)	
NONNET124P	1	6" (15.2 cm)	25/cs
NONNET224P	2	7 ² / ₃ " (19.5 cm)	25/cs
NONNET324P	3	91/3" (23.7 cm)	25/cs
NONNET424P	4	11%" (29.6 cm)	25/cs
NONNET524P	5	12%" (31.4 cm)	25/cs
NONNET624P	6	17" (43.2 cm)	25/cs
NONNET724P	7	28¾" (72.8 cm)	25/cs
NONNET824P	8	311/3" (79.6 cm)	25/cs
NONNET924P	9	35" (88.9 cm)	25/cs
NONNET1024P	10	41" (104.1 cm)	25/cs
NONNET1124P	11	46" (116.8 cm)	25/cs
NONNET1224P	12	56" (142.2 cm)	25/cs
NONNET2224P	22	80" (203.2 cm)	25/cs
Individual 36" Lengths (Relaxed)			
NONNET636P	6	17" (43.2 cm)	50/cs
NONNET736P	7	28 ² / ₃ " (72.8 cm)	50/cs

TIP! Measure circumference of appendage to select correct product size.

TIP! If you lose your applicator, simply take a 20cc syringe (without the needle), remove the plunger and place the netting over the syringe. Place the digit inside the syringe and slowly move netting on to the digit.

Elastic Bandages

A complete selection for all your needs

Matrix® Elastic Bandage

Matrix® is our finest elastic bandage. Ideal for high compression situations, the polyester/cotton weave provides excellent elasticity and recoverability. Features an easy-to-use hook and loop closure at both ends and is color-coded for easy size identification on both ends of roll. **Latex-Free.**

Item#	Description	Quantity
Matrix® Elastic Bar	ndage, Sterile (Singles)	
DYNJ05152LF	2" x 5 yds, stretched (5.08 cm x 4.57 m)	20/cs
DYNJ05153LF	3" x 5 yds, stretched (7.62 cm x 4.57 m)	20/cs
DYNJ05154LF	4" x 5 yds, stretched (10.16 cm x 4.57 m)	20/cs
DYNJ05156LF	6" x 5 yds, stretched (15.2 cm x 4.57 m)	20/cs
DYNJ05157LF	6" x 10 yds, stretched (15.2 cm x 9.144 m)	20/cs
DYNJ05158LF	6" x 15 yds, stretched (15.2 cm x 13.716 m)	20/cs

Matrix® Elastic Bandage, Non-Sterile

MDS087002LF	2" x 5 yds, stretched (5.08 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS087003LF	3" x 5 yds, stretched (7.62 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS087004LF	4" x 5 yds, stretched (10.16 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS087006LF	6" x 5 yds, stretched (15.2 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS087104LF	4" x 10 yds, stretched (10.16 cm x 9.144 m)	4/bx, 5 bx/cs, 20/cs
MDS087106LF	6" x 10 yds, stretched (15.2 cm x 9.144 m)	4/bx, 5 bx/cs, 20/cs
MDS087156LF	6" x 15 yds, stretched (15.2 cm x 13.716 m)	4/bx, 5 bx/cs, 20/cs



MDS046004 Soft-Wrap® Non-Sterile Elastic Bandage

Soft-Wrap® Elastic Bandage

Knitted, breathable, suited for general use support and compression. This 90% cotton and 10% polyester bandage serves as an ideal secondary bandage. Clips included.

Ideal for low compression. Latex-Free.

Item#	Description	Quantity	
Soft-Wrap® E	Soft-Wrap® Elastic Bandage, Sterile (Singles)		
DYNJ05125	2" x 5 yds, stretched, beige (5.08 cm x 4.57 m)	20/cs	
DYNJ05126	3" x 5 yds, stretched, beige (7.62 cm x 4.57 m)	20/cs	
DYNJ05131	4" x 5 yds, stretched, beige (10.16 cm x 4.57 m)	20/cs	
DYNJ05132	6" x 5 yds, stretched, beige (15.2 cm x 4.57 m)	20/cs	

Soft-Wrap® Elastic Bandage, Non-Sterile

Soit-wrap L	astic bandage, Non-Sterne	
MDS046002	2" x 5 yds, stretched, beige (5.08 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS046003	3" x 5 yds, stretched, beige (7.62 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS046004	4" x 5 yds, stretched, beige (10.16 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS046006	6" x 5 yds, stretched, beige (15.2 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs

Swift-Wrap® Elastic Bandage

High quality elastic bandage with convenient hook and loop closure, eliminating the need for clips or tape. Cotton/polyester knit construction, ideal for medium compression application on a variety of conditions. Latex-Free.

Item#	Description	Quantity
Swift-Wrap® E	lastic Bandage, Sterile (Single	es)
DYNJ05144	2" x 5 yds, stretched, white (5.08 cm x 4.57 m)	20/cs
DYNJ05145	3" x 5 yds, stretched, white (7.62 cm x 4.57 m)	20/cs
DYNJ05146	4" x 5 yds, stretched, white (10.16 cm x 4.57 m)	20/cs
DYNJ05147	6" x 5 yds, stretched, white (15.2 cm x 4.57 m)	20/cs

Swift-Wrap® Elastic Bandage, Non-Sterile

MDS077002	2" x 5 yds, stretched, white (5.08 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS077003	3" x 5 yds, stretched, white (7.62 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS077004	4" x 5 yds, stretched, white (10.16 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS077006	6" x 5 yds, stretched, white (15.2 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs

Sure-Wrap® Elastic Bandage

Sure-Wrap is our most cost-effective elastic bandage. It delivers consistent pressure and is appropriate for applications requiring higher compressions. Clips included. 10% Cotton/90% Polyester. Latex-Free.

Item#	Description	Quantity
Sure-Wrap® Ela	astic Bandage, Non-Sterile (V	White)
MDS057002	2" x 5 yds, stretched, white (5.08 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS057003	3" x 5 yds, stretched, white (7.62 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS057004	4" x 5 yds, stretched, white (10.16 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS057006	6" x 5 yds, stretched, white (15.20 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs

Sure-Wrap® Elastic Bandage, Non-Sterile (Beige)

		9 - /
MDS055002	2" x 5 yds, stretched, beige (5.08 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS055003	3" x 5 yds, stretched, beige (7.62 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS055004	4" x 5 yds, stretched, beige (10.16 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs
MDS055006	6" x 5 yds, stretched, beige (15.2 cm x 4.57 m)	10/bx, 5 bx/cs, 50/cs



MDS077003 Swift-Wrap® Non-Sterile Elastic Bandage



MDS057004 Sure-Wrap®, Non-Sterile Elastic Bandage

Wytex Undercast Padding

This product is constructed of 100% cotton fibers to provide a soft environment under a hard cast. Wytex is a low linting product with more loft to provide a better feel for the patient. **Latex-Free.**

Item#	Description	Quantity
Wytex Undercas	st Padding, Sterile (Single	es)
DYNJ066002	2" x 4 yds (5.08 cm x 3.66 m)	20 rolls/cs
DYNJ066003	3" x 4 yds (7.62 cm x 3.66 m)	20 rolls/cs
DYNJ066004	4" x 4 yds (10.16 cm x 3.66 m)	20 rolls/cs
DYNJ066006	6" x 4 yds (15.2 cm x 3.66 m)	20 rolls/cs

Wytex Undercast Padding, Non-Sterile

MDS066002	2" x 4 yds (5.08 cm x 3.66 m)	24/bg, 3 bg/cs, 72/cs
MDS066003	3" x 4 yds (7.62 cm x 3.66 m)	12/bg, 6 bg/cs, 72/cs
MDS066004	4" x 4 yds (10.16 cm x 3.66 m)	12/bg, 6 bg/cs, 72/cs
MDS066006	6" x 4 yds (15.2 cm x 3.66 m)	6/bg, 6/cs, 36/cs



MDS066004 Wytex Undercast Padding

Syn-Tex Undercast Padding

These synthetic cast padding rolls are ideal for use with all forms of synthetic hard casting material. 100% polyester needle punched construction absorbs excess moisture and dries quickly to retain a comfortable fit. **Latex-Free**.

Item#	Description	Quantity			
Syn-Tex Underc	Syn-Tex Undercast Padding, Non-Sterile				
MDS067002	2" x 4 yds (5.08 cm x 3.66 m)	12/bg, 6 bg/cs, 72/cs			
MDS067003	3" x 4 yds (7.62 cm x 3.66 m)	12/bg, 6 bg/cs, 72/cs			
MDS067004	4" x 4 yds (10.16 cm x 3.66 m)	12/bg, 6 bg/cs, 72/cs			
MDS067006	6" x 4 yds (15.2 cm x 3.66 m)	6/bg, 6/cs, 36/cs			



Protective Sleeves

Made from 93% Cotton, 7% Lycra® Spandex, our protective sleeves provide mild compression, dressing retention, warmth, and a protective shield for fragile skin. **Latex-Free.**

Item#	Description	Quantity
Protective Sle	eves	
NONSLEEVE	Arm Sleeve, 14" long with thumb loop (35.6 cm)	1 pair/pk
NONSLEEVEL	Leg Sleeve, 18" long (45.72 cm)	1 pair/pk



Burn Dressing

45-Ply Cotton Dressing Provides Loft and Extra Cushioning of the Wound

100% Cotton wide mesh dressings absorb wound drainage and cushion the site. Specifically designed for use on burns. Available in a variety of sizes, ply, sewn or unsewn edges. Sterile and Latex-Free.



NON7911 Fine Mesh Layered Burn Dressing

Item#	Description	Quantity	
Burn Dressing, Sterile			
NON7911	18" x 18", 10-ply Sewn (45.7 x 45.7 cm)	1 ea/pk, 80 pk/cs	
NON7912	18" x 18", 2-ply Sewn (45.7 x 45.7 cm)	2 ea/pk, 100 pk/cs	
NON7913	18" x 18", 4-ply Sewn (45.7 x 45.7 cm)	5 ea/pk, 40 pk/cs	
NON7915	18" x 18", 50-ply Unsewn (45.7 x 45.7 cm)	1 ea/pk, 20 pk/cs	
NON7916	36" x 36", 18-ply Unsewn (91.4 x 91.4 cm)	1 ea/pk, 20 pk/cs	
NON216645	6" x 6", 45-ply Sewn (15.2 x 15.2 cm)	6 ea/tray, 20/tray/cs	
NON7918	18"x 8.25 yds, 2-ply Unsewn (45.7 cm x 7.54 m)	20 ea/cs	
DYNJ05013	9" x 72", 4-Ply (22.9 x 182.9 cm)	50 ea/cs	

Triangular Bandage

- Non-sterile individually packaged, Latex-Free
- Includes 2 safety pins
- Conveniently unfolds for arm sling
- Ideal for EMS and First Aid Kits

Item#	Description	Quantity
Triangular Bandage		
NONTRI200	36" x 36" x 51" (91.4 x 91.4 x 129.5 cm)	12/bg, 240/cs



Nursing Pad

This disposable, nursing pad is soft and highly absorbent. Helps wick fluids away from the skin. Adhesive on back for easy securement to undergarments. Latex-Free.

Item#	Description	Quantity	
Nursing Pad			
NURSEPAD1	Disposable nursing pad	12/bx, 288/cs	

Sterile Disposable Drape

Create a sterile field with a sterile paper drape. Repellent plastic liner helps prevent strike through. Latex-Free.

Item#	Description	Quantity
Disposable	Drape, Sterile	
NON21001	18" x 26", Paper drape (45.7 x 66 cm)	50/bx, 300/cs
NON21002	18" x 26", Paper drape (45.7 x 66 cm) 234" Fenestration	50/bx, 300/cs



NON216645 6" x 6" Sterile Burn Dressing



NURSEPAD1 Disposable nursing pad



NON21001 18" x 26" Sterile Disposable Drape

Co-Flex® LF2

Compare to 3M Coban®*

A unique quick stick self-adhering bandage with a soft foam layer **Latex-Free** but performs better than latex. Patented hand tear technology. Will not constrict.

Item#	Description	Quantity
Co-Flex® LF2,	Sterile	
DYNJ089002	2" x 5 yds (5.08 cm x 4.57m), stretched, tan	20 rolls/cs
DYNJ089003	3" x 5 yds (7.62 cm x 4.57 m), stretched, tan	20 rolls/cs
DYNJ089004	4" x 5 yds (10.16 cm x 4.57 m), stretched, tan	20 rolls/cs
DYNJ089006	6" x 5 yds (15.2 cm x 4.57 m), stretched, tan	20 rolls/cs

Co-Flex® LF2, Non-Sterile

MDS089001	1" x 5 yds (2.54 cm x 4.57 m), stretched, tan, 2/pk	30 rolls/cs
MDS089002	2" x 5 yds (5.08 cm x 4.57 m), stretched, tan	36 rolls/cs
MDS089003	3" x 5 yds (7.62 cm x 4.57 m), stretched, tan	24 rolls/cs
MDS089004	4" x 5 yds (10.16 cm x 4.57 m), stretched, tan	18 rolls/cs
MDS089006	6" x 5 yds (15.2 cm x 4.57 m), stretched, tan	12 rolls/cs



Co-Flex® Med

This self-adherent, hand-tear compression wrap contains natural rubber latex.

Item#	Description	Quantity
Co-Flex® Med	, Sterile	
DYNJ086002	2" x 5 yds, stretched, tan (5.08 cm x 4.57 m)	20 rolls/cs
DYNJ086003	3" x 5 yds, stretched, tan (7.62 cm x 4.57 m)	20 rolls/cs
DYNJ086004	4" x 5 yds, stretched, tan (10.16 x 4.57 m)	20 rolls/cs
DYNJ086006	6" x 5 yds, stretched, tan (15.2 cm x 4.57 m)	20 rolls/cs

MDS086001	1" x 5 yds, stretched, tan (2.54 cm x 4.57 m), 2/pk	30 rolls/cs
MDS086002	2" x 5 yds, stretched, tan (5.08 cm x 4.57 m)	36 rolls/cs
MDS086003	3" x 5 yds, stretched, tan (7.62 cm x 4.57 m)	24 rolls/cs
MDS086004	4" x 5 yds, stretched, tan (10.16 cm x 4.57 m)	18 rolls/cs
MDS086006	6" x 5 yds, stretched, tan (15.2 cm x 4.57 m)	12 rolls/cs

Item#	Description	Quantity	
Co-Flex® LF² Colorpack, Non-Sterile, Latex Free			
MDS089001CP	1" x 5 yds, stretched, (2.54 cm x 4.57 m)	30 rolls/cs	
MDS089002CP	2" x 5 yds, stretched, (5.08 cm x 4.57 m)	36 rolls/cs	
MDS089003CP	3" x 5 yds, stretched, (7.62 cm x 4.57 m)	24 rolls/cs	
MDS089004CP	4" x 5 yds, stretched, (10.16 cm x 4.57 m)	18 rolls/cs	

Co-Flex® NL Kid's Pack, Non-Sterile, Latex Free

MDS088002KP	2" x 5 yds, stretched, (5.08 cm x 4.57 m)	36 rolls/cs
MDS088003KP	3" x 5 yds, stretched, (7.62 cm x 4.57 m)	24 rolls/cs



Co-Flex® LF² Colorpack Contains Rolls of:

Pink, Blue, Purple, Light Blue, Neon Green, and Red

Co-Flex® NL Kid's Pack Contains Rolls of:

- Neon Pink/Purple Hearts
- Neon Green/Dark Green Dinosaurs
- Orange/Black Smiley Face
- Light Blue/Dark Blue Trucks and Cars
- Yellow/Black Bumblebees
- Lilac/Purple Flowers

^{*} This product is not manufactured or distributed by 3M Healthcare, makers of Coban®.

Co-Flex® AFD

- High absorption and retention of exudate
- Keeps wound site moist and clean
- All-in-one dressing/cohesive bandage
- Soft and comfortable CoFlex LF² base.
- Waterproof film layer over foam pad
- Expands to conform to wound cavity
- Provides controlled compression and easy application
- Non-adherent to wound bed.

Latex-Free

Item#	Color	Description	Quantity
Co-Flex® AFD)		
MDS089202	Tan	2" x 2.5 yds (5.08 cm x 2.27 m)	16 rolls/cs
MDS089204	Tan	4" x 2.5 yds (10.16 cm x 2.27 m)	8 rolls/cs
MDS089207	Tan	4" x 7.5 yds (10.16 cm x 6.86 m)	6 rolls/cs

Co-Flex® AFD. Sterile

CO FICK ALD, CLOTHO			
DYNJ089202	Tan	2" x 2.5 yds (5.08 cm x 2.27 m)	16 rolls/cs
DYNJ089204	Tan	4" x 2.5 yds (10.16 cm x 2.27 m)	8 rolls/cs
DYNJ089207	Tan	4" x 7.5 yds (10.16 cm x 6.86 m)	6 rolls/cs



MDS89202 2" Co-Flex® AFD

Montgomery Straps

Medfix Montgomery Straps are adhesive straps used to facilitate frequent dressing changes without having to remove and reapply tape. Breathable, strong and comfortable. Helps reduce the risk of patient skin trauma associated with frequent taping. Can cut to size. Latex-Free.

Item#	Description	Quantity
Medfix Mont	tgomery Straps	
NON5129	7½" x 11½" (18.4 x 28.3 cm)	24/bx (12 pairs), 6 bx/cs, 144 ea/cs
	gomery Straps – may be D® Packing Strips on page 20	

Adhesive Surgical Dressing

This all-in-one dressing helps reduce nursing time by assembling in one dressing a sterile sponge, non-adhesive pad and cloth "silk" tape. A non-adherent contact layer that permits free flow of drainage, protects the wound site, and will not stick to granulating tissue. A soft, highly absorbent rayon/cellulose pad for light to medium draining wounds. The tape backing holds the pad in place on two sides. Easily cut to customized sizes. Ideal for long surgical incisions, lacerations, abrasions and invasive lines. Latex-Free.

Item#	Description	Quantity		
Adhesive Su	Adhesive Surgical Dressing, Sterile 1's			
NON4311	4" x 6" (4" x 3" pad) (10.16 x 15.2 cm)	25/bx, 8 bx/cs, 200 ea/cs		
NON4313	8" x 6" (8" x 3" pad) (20.3 x 15.2 cm)	25/bx, 4 bx/cs, 100 ea/cs		



NON4311 Adhesive Surgical Dressing



CURAD® Impregnated Gauze

CURAD® Petrolatum Gauze Dressing

An effective, non-adherent primary dressing that maintains a moist wound bed for autolytic healing. U.S.P. cotton gauze is evenly impregnated with U.S.P. white petrolatum to create a soothing, conforming dressing that won't stick to the wound site. Ideal for use on non-draining wounds including tube sites, stomas, skin grafts, circumcision, burns, umbilical bandage, non-infected wounds, pressure ulcers (stage 2-4), fistulas or abrasions.

Latex-Free.

Item#	Description	Quantity		
CURAD® Petro	CURAD® Petrolatum Overwrap Gauze Dressing, Sterile			
CUR251136W	1" x 36" (2.54 x 91.44 cm)	12/bx, 72/cs		
CUR251272W	½" x 72" (1.27 x 182.88 cm)	12/bx, 72/cs		
CUR251336W	3" x 36" (7.62 x 91.44 cm)	12/bx, 72/cs		
CUR251390W	3" x 9" (7.62 x 22.86 cm)	12/bx, 72/cs		
CUR251318W	3" x 18" (7.62 x 45.72 cm)	12/bx, 72/cs		
CUR251180W	1" x 8" (2.54 x 20.32 cm)	50/bx, 200/cs		

CURAD® Petrolatum Gauze Dressing, Sterile

CUR251136	1" x 36" (2.54 x 91.44 cm)	12/bx, 72/cs
CUR251136Z	1" x 36" (2.54 x 91.44 cm)	12/bx
CUR251272	½" x 72" (1.27 x 182.88 cm)	12/bx, 72/cs
CUR251272Z	½" x 72" (1.27 x 182.88 cm)	12/bx
CUR251336	3" x 36" (7.62 x 91.44 cm)	12/bx, 72/cs
CUR251336Z	3" x 36" (7.62 x 91.44 cm)	12/bx
CUR251390	3" x 9" (7.62 x 22.86 cm)	50/bx, 200/cs
CUR251390Z	3" x 9" (7.62 x 22.86 cm)	50/bx
CUR251180	1" x 8" (2.54 x 20.32 cm)	50/bx, 200/cs
CUR251180Z	1" x 8" (2.54 x 20.32 cm)	50/bx
CUR251318	3" x 18" (7.62 x 45.72 cm)	12/bx, 72/cs
CUR251318Z	3" x 18" (7.62 x 45.72 cm)	12/bx
CUR251636	6" x 36" (15.24 x 91.44 cm)	12/bx, 72/cs
CUR251636Z	6" x 36" (15.24 x 91.44 cm)	12/bx

CURAD® Xeroform Gauze Dressing

Petrolatum gauze with the addition of 3% Xeroform (Bismuth Tribromophenate), a deodorizing agent. Ideal for use on non-draining to lightly draining wounds including donor sites, colostomies, cancer resections, burns abrasions, skin graft sites, and all surgical incisions. Contraindicated for heavily draining wounds. **Latex-Free.**

Item#	Description	Quantity
CURAD® Xeroform Petrolatum Overwrap Gauze Dressing, Sterile		
CUR253590W	5" x 9" (12.7 x 22.86 cm)	50/bx, 200/cs
CUR253180W	1" x 8" (2.54 x 20.32 cm)	50/bx, 200/cs

CURAD® Xeroform Petrolatum Gauze Dressing, Sterile

CUR253180	1" x 8" (2.54 x 20.32 cm)	50/bx, 200/cs
CUR253180Z	1" x 8" (2.54 x 20.32 cm)	50/bx
CUR253590	5" x 9" (12.7 x 22.86 cm)	50/bx, 200/cs
CUR253590Z	5" x 9" (12.7 x 22.86 cm)	50/bx
CUR253220	2" x 2" (5.08 x 5.08 cm)	25/bx, 150/cs
CUR253220Z	2" x 2" (5.08 x 5.08 cm)	25/bx
CUR253440	4" x 4" (10.16 x 10.16 cm)	25/bx, 150/cs
CUR253440Z	4" x 4" (10.16 x 10.16 cm)	25/bx





CUR253180 1" x 8" Xeroform Petrolatum Dressing

CUR251136 1" x 36" Petrolatum Dressing

CURAD® Oil Emulsion Dressing Compare to Adaptic® Non-Adhering Dressing

Knitted, high porosity cellulose acetate is evenly impregnated with U.S.P. white petrolatum in an emulsion blend that permits the flow of exudates without adhering to granulating tissue and minimizes skin maceration. Highly conformable dressing is ideal for most draining wounds including burns, suture lines, lacerations, skin ulcers, episiotomy incisions and abrasions. To be used directly on the wound, beneath an absorbent secondary dressing. Latex-Free.

Item#	Description	Quantity	
CURAD® Oil Emulsion Gauze, Sterile			
CUR250383	3" x 8" (7.62 x 20.3 cm)	3/pk, 108/bx, 648/cs	
CUR250383Z	3" x 8" (7.62 x 20.3 cm)	3/pk, 108/bx	
CUR250330	3" x 3" (7.62 x 7.62 cm)	50/bx, 648/cs	
CUR250330Z	3" x 3" (7.62 x 7.62 cm)	50/bx	
CUR250381	3" x 8" (7.62 x 20.3 cm)	1/pk, 24/bx, 144/cs	
CUR250381Z	3" x 8" (7.62 x 20.3 cm)	1/pk, 24/bx	
CUR250317	3" x 16" (7.62 x 40.64 cm)	36/bx, 216/cs	
CUR250317Z	3" x 16" (7.62 x 40.64 cm)	36/bx	

^{*}This product is not manufactured or distributed by Johnson & Johnson Corporation, distributors of Adaptic® non-adherent dressings.



CUR250383 3" x 8" Oil Emulsion Dressing

CURAD® Packing Strips

These tightly woven, 100% cotton gauze packing strips are ravel resistant, and won't fray or lint. Used for packing or as drainage conduits in wound care management applications, such as nasal or sinus packing, boils, abscesses, fistulas and other draining or tunneling wounds. Strips are available plain or impregnated with iodoform, an antiseptic agent. Packaged as one 5 yard strip per bottle. Cut to desired length. Latex-Free.

Item#	Description	Quantity
CURAD® Packi	ng Strips, Sterile, Plain	
NON255015	1" x 5 yds (2.54 cm x 4.57 m)	12/cs
NON255025	2" x 5 yds (5.08 cm x 4.57 m)	12/cs
NON255125	½" x 5 yds (1.3 cm x 4.57 m)	12/cs
NON255145	1/4" x 5 yds (0.6 cm x 4.57 m)	12/cs

CURAD® Packing Strips, Sterile, Iodoform

OUTIAD Tacking Chips, Oterne, load form				
NON256015	1" x 5 yds (2.54 cm x 4.57 m)	12/cs		
NON256025	2" x 5 yds (5.08 cm x 4.57 m)	12/cs		
NON256125	½" x 5 yds (1.3 cm x 4.57 m)	12/cs		
NON256145	1/4" x 5 yd s (0.6 cm x 4.57 m)	12/cs		



NON255015 1" x 5 yd Plain Packing Strips NON256025 1" x 5 yd lodoform Packing Strips



Adhesive Tapes

Re-engineered for just the right adhesion

CURAD® Paper Tape Compare to Micropore®*

A gentle, breathable tape for sensitive skin, recommended especially for pediatric and geriatric patients. Flexible and conformable. Adheres well to damp skin. Single use rolls are great for reducing waste and reducing cross contamination. Latex-Free.

Item#	Description	Quantity			
CURAD® Paper	CURAD® Paper Tape				
NON260012	½" x 10 yds (1.3 cm x 9.14 m)	24 rolls/bx, 12 bx/cs, 288 rolls/cs			
NON260001	1" x 10 yds (2.54 cm x 9.14 m)	12 rolls/bx, 12 bx/cs, 144 rolls/cs			
NON260002	2" x 10 yds (5.08 cm x 9.14 m)	6 rolls/bx, 12 bx/cs, 72 rolls/cs			
NON260003	3" x 10 yds (7.62 cm x 9.14 m)	4 rolls/bx, 12 bx/cs, 48 rolls/cs			

CURAD® Paper Tape, Single Use Rolls

NON260001S	1" x 1.5 yds (2.54 cm x 1.37 m)	100 rolls/bx, 5 bx/cs, 500 rolls/cs
NON260002S	2" x 1.5 yds (5.08 cm x 1.37 m)	50 rolls/bx, 5 bx/cs, 250 rolls/cs

CURAD® Cloth "Silk" Tape Compare to Durapore®*

With its strong woven construction, this cloth "silk-like" tape is perfect for affixing dressings. It's water repellent and easy to tear. Latex-Free.

Item#	Description	Quantity
CURAD® Cloth "	Silk" Tape, Rolls	
NON260112	½" x 10 yds (1.3 cm x 9.14 m)	24 rolls/bx, 12 bx/cs, 288 rolls/cs
NON260101	1" x 10 yds (2.54 cm x 9.14 m)	12 rolls/bx, 12 bx/cs, 144 rolls/cs
NON260102	2" x 10 yds (5.08 cm x 9.14 m)	6 rolls/bx, 12 bx/cs, 72 rolls/cs
NON260103	3" x 10 yds (7.62 cm x 9.14 m)	4 rolls/bx, 12 bx/cs, 48 rolls/cs

CURAD® Cloth "Silk" Tape, Single Use Rolls

NON260101S	1" x 1.5 yds	100 rolls/bx, 5 bx/cs,
	(2.54 cm x 1.37 m)	500 rolls/cs

^{*}This product is not manufactured or distributed by 3M Healthcare, makers of Micropore® and Durapore®.



1" x 10 yds Paper Tape

NON260002S 2" x 1.5 yds Paper Tape, Single Use



NON260001E 1" x 10 yds Sensitive Skin Paper Tape

CURAD® Sensitive Skin Paper Tape **Revolutionary Gentle Adhesion**

Adhesive is present only on every alternate wave. This unique wave pattern provides plenty of surface area for the tape to stick, yet the smaller amount of adhesive is gentler to the skin when the tape comes off. The gaps in the adhesive also allow for breathability. Latex-Free.

Item#	Description	Quantity
CURAD® Sensitive Skin Paper Tape		
NON260001E	1" x 10 yds (2.54 cm x 9.14 m)	12 rolls/bx, 12 bx/cs, 144 rl/cs
NON260002E	2" x 10 yds (5.08 cm x 9.14 m)	6 rolls/bx, 12 bx/cs, 72 rolls/cs
NON260003E	3" x 10 yds (7.62 cm x 9.14 m)	4 rolls/bx, 12 bx/cs, 48 rolls/cs



NON260101 1" x 10 yds Cloth "Silk" Tape

NON260101S 1" x 1.5 yds Cloth "Silk" Tape, Single Use

CURAD® Transparent Tape

Compare to Transpore®*

A breathable perforated plastic tape that permits skin examination without tape removal. Provides a clean and easy bilateral tear for custom widths. Excellent tape to hold facial dressings or for IV sites and tubing retention. Latex-Free.

Item#	Description	Quantity
CURAD® Transp	parent Tape, Rolls	
NON260212	½" x 10 yds (1.3 cm x 9.14 m)	24 rolls/bx, 12 bx/cs, 288 rolls/cs
NON260201	1" x 10 yds (2.54 cm x 9.14 m)	12 rolls/bx, 12 bx/cs, 144 rolls/cs
NON260202	2" x 10 yds (5.08 cm x 9.14 m)	6 rolls/bx, 12 bx/cs, 72 rolls/cs
NON260203	3" x 10 yds (7.62 cm x 9.14 m)	4 rolls/bx, 12 bx/cs, 48 rolls/cs

CURAD® Transparent Tape, Single Use Rolls

NON260201S	1" x 1.5 yds	100 rolls/bx,
	(2.54 cm x 1.37 m)	5 bx/cs, 500 rolls/cs

CURAD® Waterproof Tape

Waterproof and oil-resistant tape that's also easy to write on. Cotton cloth backing with polyethylene coating provides high tensile strength that will not permit moisture to penetrate to skin or the dressing. Strong adhesive is durable and holds securely. Latex-Free.

Item#	Description	Quantity	
CURAD® Wate	CURAD® Waterproof Tape, Rolls		
NON260501	1" x 10 yds (2.54 cm x 9.14 m)	12 rolls/bx, 12 bx/cs, 144 rolls/cs	
NON260502	2" x 10 yds (5.08 cm x 9.14 m)	6 rolls/bx, 12 bx/cs, 72 rl/cs	
NON260503	3" x 10 yds (7.62 cm x 9.14 m)	4 rolls/bx, 12 bx/cs, 48 rolls/cs	

CURAD® All Purpose Waterproof Tape, Rolls

CUR47440	½" x 5 yds (1.3 cm x 4.57 m)	1 ea/roll, 24 rolls/cs
CUR47441	½" x 10 yds (1.3 cm x 9.14 m)	1 ea/roll, 24 rolls/cs



*This product is not manufactured or distributed by 3M Healthcare, makers of Transpore®.

CURAD® Elastic Adhesive Bandage

100% cotton elastic cloth tape backing provides high tensile strength. Strong rubber-based adhesive permits body movement without loosening of tape. Porous construction maintains skin integrity and permits moisture vapor transmission. Latex-Free.

Item#	Description	Quantity
CURAD® Elastic Adhesive Bandage		
NON260401	1" x 5 yds (2.54 cm x 4.57 m)	12 rolls/bx, 12 bx/cs, 144 rolls/cs
NON260402	2" x 5 yds (5.08 cm x 4.57 m)	6 rolls/bx, 12 bx/cs, 72 rolls/cs
NON260403	3" x 5 yds (7.62 cm x 4.57 m)	4 rolls/bx, 12 bx/cs, 48 rolls/cs
NON260404	4" x 5 yds (10.16 cm x 4.57 m)	6 rolls/bx, 6 bx/cs, 36 rolls/cs

CURAD® Elastic Foam Tape

Highly conformable, multi-directional stretch promotes patient comfort and accommodates swelling. Moderate adhesion secures dressings over challenging areas and can be used to provide compression applications. Smooth, cushioned elastic foam backing protects wound site and dressings. Water resistant for greater durability. Latex free adhesive and backing leave minimal skin residue.

Item#	Description	Quantity
CURAD® Elastic Foam Tape, Rolls		
NON260601	1" x 5.5 yds (2.54 cm x 5 m)	12 rolls/bx, 6 bx/cs, 72 rolls/cs
NON260602	2" x 5.5 yds (5.08 cm x 5 m)	6 rolls/bx, 6 bx/cs, 36 rolls/cs
NON260603	3" x 5.5 yds (7.62 cm x 5 m)	4 rolls/bx, 6 bx/cs, 24 rolls/cs
NON260604	4" x 5.5 yds (10.16 cm x 5 m)	3 rolls/bx, 6 bx/cs, 18 rl/cs



CURAD® Ortho-Porous Sports Tape

Strong woven cotton backing provides high tensile strength and support to highly active patients. Powerful rubber-based adhesive is designed for long lasting adhesion with minimal residue. Highly porous construction allows the skin to breathe and permits moisture vapor transmission. Consistent low unwind tension throughout the roll for ease of use. **Latex-Free**.

Item#	Description	Quantity
CURAD® Ortho	-Porous Sports Tape	•
NON260301	1" x 10 yds (2.5 cm x 9.1 m)	12 rolls/bx, 12 bx/cs, 144 rolls/cs
NON260315	1½" x 10 yds (3.75 cm x 9.1 m)	8 rolls/bx, 12 bx/cs, 96 rolls/cs
NON260302	2" x 10 yds (4 cm x 9.1 m)	6 rolls/bx, 12 bx/cs, 72 rolls/cs
NON260303	3" x 10 yds (7.5 cm x 9.1 m)	4 rolls/bx, 12 bx/cs, 48 rolls/cs

CURAD® Adhesive Moleskin

A roll of tan colored flannel with a napped cotton backing on a zinc oxide-based adhesive. Used to cushion the skin in an effort to help manage blisters, corns, calluses and chafing. Cut to desired size.

Contains natural rubber latex.

Item#	Description	Quantity
CURAD® Adhesive Moleskin		
NON5147	9" x 4 yds	1 roll/tube, 12 tubes/cs
	(22.9 cm x 3.66 m)	



CURAD® Medi-Strips® Reinforced Wound Closure Strips Compare to 3M™ Steri-Strips™*

Adhesive wound closures with an exceptionally porous spun-bond fiber backing, includes reinforced filaments for high tensile strength. The medical grade adhesive affords excellent adhesion while being gentle to the skin. Medi-Strips® are used in addition to, or in place of, sutures. Each size is in a color-coded package for quick and easy size identification. Latex-Free.

Item#	Description	Quantity
Medi-Strips®,	Reinforced, Sterile	
NON250318	½" x 3" (0.32 x 7.62 cm)	5/pk, 50 pk/bx, 4 bx/cs
NON250114	½" x 1½" (0.6 x 3.8 cm)	6/pk, 50 pk/bx, 4 bx/cs
NON250412	½" x 4" (1.3 x 10.16 cm)	6/pk, 50 pk/bx, 4 bx/cs
NON250314	1/4" x 3" (0.6 x 7.62 cm)	3/pk, 50 pk/bx, 4 bx/cs
NON250414	1/4" x 4" (0.6 x 10.16 cm)	5 strips/card, 2 cards/pk, 50 pk/bx, 4 bx/cs



NON250314 1/4" x 3" Medi-Strips® Reinforced Wound Closure Strips

^{*}This product is not manufactured or distributed by 3M Healthcare, makers of Steri-Strips™.





CURAD® Plastic Adhesive Bandages

CURAD® plastic adhesive bandages are constructed with PVC-free durable polyethylene and perforated for breathability. These bandages feature even adhesion and a non-adherent island pad. Latex-Free.

Item#	Description	Quantity
CURAD® Plas	tic Adhesive Banda	nges, Sterile
NON25500	34" x 3" (1.9 x 7.62 cm)	100/bx, 12 bx/cs, 1200/cs
NON25600	1" x 3" (2.54 x 7.62 cm)	100/bx, 12 bx/cs, 1200/cs
NON25501	Spot 7/8" (2.2 cm)	100/bx, 12 bx/cs, 1200/cs
NON25504	X-Lg 2" x 4" (5.08 x 10.16 cm)	50/bx, 12 bx/cs, 600/cs
NON25509	Jr. %" x 1½" (1 x 3.8 cm)	100/bx, 36 bx/cs, 3600/cs

CURAD® Flex-Fabric™ Adhesive Bandages

CURAD® Flex-Fabric™ adhesive bandages are woven to allow them to stretch and conform to the wound. Material naturally breathes. Features even adhesion and a non-adherent island pad. Latex-Free.

Item#	Description	Quantity
CURAD® Wove	en Cloth Flex-Fabric [™] Adhe	sive Bandages, Sterile
NON25650	³ / ₄ " x 3" (1.9 x 7.62 cm)	100/bx, 12 bx/cs, 1200/cs
NON25660	1" x 3" (2.54 x 7.62 cm)	100/bx, 12 bx/cs, 1200/cs
NON25510	Knuckle, 1½" x 3" (3.8 x 7.62 cm)	100/bx, 12 bx/cs, 1200/cs
NON25513	Fingertip, 1¾" x 2" (4.44 x 5.08 cm)	100/bx, 12 bx/cs, 1200/cs
NON25650B	3/4" x 3" (1.9 x 7.62 cm)	2025/bx, 4 bx/cs, 8100/cs
NON25660B	1" x 3" (2.54 x 7.62 cm)	1800/bx, 4 bx/cs, 7200/cs
NON25524	2" x 4" (5.08 x 10.16 cm)	50/bx, 12 bx/cs, 600/cs



CURAD® Sesame Street® Adhesive Bandage

NEW CURAD® Sesame Street® Adhesive Bandages are now available in a 100 count box... perfect for hospitals! These timeless characters help make kids smile. Our bandages are made from soft, flexible plastic and a skin-friendly adhesive that doesn't leave a sticky, itchy residue on the skin, so kids are ensured maximum comfort as they heal. **Latex-free.**

Item#	Description	Quantity
CURAD® Sesame Street® Adhesive Bandage, Sterile		
NON47070	34" x 3" (1.9 x 7.62 cm)	100/box, 12 bx/cs,
		1200/cs

CURAD® Medtoons® Adhesive Bandage

Children will adore the smiling bumble bees, soccer playing dogs and snorkeling fish featured on the new Medtoons Cartoon adhesive bandage. Each box includes 50 strips (25 strips each of yellow, and blue) constructed from PVC-free vinyl perforated for increased moisture vapor transmission. The pressure sensitive, acrylic adhesive is skin friendly and provides long lasting protection.

Latex-free.

Item#	Description	Quantity	
CURAD® Medtoons® Adhesive Bandage, Sterile			
NON2561	30 3/4" x 3" (1 9 x 7 62	cm) 50/box 24 bx/cs	s 1200/cs

CURAD® Pressure Adhesive Bandage

Once in contact with fluid, the absorbent, cellulose island pad expands to over 7 times its normal height helping to provide gentle pressure to stop bleeding. Waterproof PE backing prevents strike through. Saves nursing time and promotes comfort for dialysis, chemotherapy and cardiac cath patients. **Latex-Free.**

Item#	Description	Quantity
CURAD® Pressure Adhesive Bandage, Sterile		
NON85100	Large, 1" x 2¾" (2.54 x 7 cm)	100/bx, 20 bx/cs, 2000/cs
NON85200	X-Large, 11/4" x 23/4" (3.2 x 7 cm)	100/bx, 20 bx/cs, 2000/cs

CURAD® Neon Adhesive Bandage

This bright assortment of five neon colors includes 10 plastic strips each of pink, blue, green, purple and yellow in each box. The non-adherent island pad protects granulating tissue, and the adhesive provides long lasting protection. **Latex-Free.**

Item#	Description	Quantity
CURAD® Neon Adhesive Bandage, Sterile		
NON256131	34" x 3" (1.9 x 7.62 cm)	50/bx, 24 bx/cs,
		1200/cs



NON47070 Sesame Street® Adhesive Bandage



NON256130 Medtoons® Adhesive Bandage



NON85100 Large Pressure Adhesive Bandage



NON256131 Neon Adhesive Bandage

CURAD® Detectable Adhesive Bandages Detectable metal, highly visible color

CURAD® blue bandages meet the needs of the food service industry with their high visibility and innovative, long-lasting adhesive that's gentle on the skin. Detectable metal hidden behind the non-adherent wound pad easily triggers metal detectors used by food packagers. This routine process scans for dangerous metal debris such as screws or knife tips that can accidentally fall into food during processing. In addition, the highly identifiable blue color stands out in all different foods.

Item#	Description	Quantity
CURAD® Flex-Fabric™ Detectable Adhesive Bandages, Woven Blue Cloth, Sterile		
NON25650BL	3/4" x 3" (1.9 x 7.62 cm)	100/bx, 12 bx/cs
NON25660BL	1" x 3" (2.54 x 7.62 cm)	100/bx, 12 bx/cs
NON25513BL	Fingertip, 1¾" x 2" (4.44 x 5.08 cm)	100/bx, 12 bx/cs
NON25510BL	Knuckle, 1½" x 3" (3.8 x 7.62 cm)	100/bx, 12 bx/cs

CURAD® Plastic Detectable Adhesive Bandages, Blue Plastic, Sterile

NON25500BL	3/4" x 3" (1.9 x 7.62 cm)	100/bx, 12 bx/cs
NON25600BL	1" x 3" (2.54 x 7.62 cm)	100/bx, 12 bx/cs

CURAD® Nasal Tube Fastener

CURAD® beige nasogastric feeding tube fastener: One-piece, flexible non-woven fastening strip is coated with hypoallergenic adhesive to minimize skin irritation. Remains securely in place until removed. One size fits most.

Item#	Description	Quantity
CURAD® Nasa	Tube Faster, Non-Sterile	
CURNASTUB50	Adult, One-piece,	10 ea/pk,
	One Size Fits Most	5 pk/bx, 50 ea/bx



NON25650BL 34" x 3" Flex-Fabric" NON25660BL 1" x 3" Flex-Fabric™



NON25510BL Knuckle Flex-Fabric™



NON25600BL 1" Plastic



CURAD® Plastic Bandages Ideal for everyday use

CURAD® Plastic Bandages are ideal multi-purpose bandages for the whole family. Different from other plastic bandages, our bandages are made from flexible plastic reinforced with a layer of non-woven material for softness and strength. A skin-friendly adhesive doesn't leave a sticky, itchy residue on the skin, so you are ensured maximum comfort as you heal. Sterile. **Latex Free.**

Item#	Description	Quantity	
CURAD® PI	CURAD® Plastic Bandages, Sterile		
CUR02278	Plastic, 80 – ¾" x 21/8" (1.9 x 7.3 cm)	80 ea/bx, 24 bx/cs	
CUR45157	Plastic Bandages, Assorted Plastic, 20 – ½" (2.2 cm), Spot Plastic, 20 – ¾" x 2½" (1.9 x 5.4 cm) Plastic, 30 – ¾" x 2½" (1.9 x 7.3 cm) Plastic, 10 – 1½" x 2½" (2.9 x 7.3 cm)	80 ea/bx, 24 bx/cs	
CUR43021	Waterproof, 20 – 1" x 31/4" (2.54 x 8.2 cm)	20 ea/bx, 24 bx/cs	
CUR44010	Clear 30 – 3/4" x 3" (1.9 x 8.2 cm)	30 ea/bx 24 bx/cs	



CUR02278 %" Plastic Bandages **CUR45157** Plastic Bandages, Assorted

CURAD® Extreme Lengths Bandages Protect hardworking hands

CURAD® Extreme Lengths bandages are extra long for extra hold. Unlike other bandages, they wrap around the finger twice to stay on strong! Made with Flex-Fabric™ and sure stick adhesive, this finger bandage stays in place! CURAD® Extreme – Stay on strong to protect your hardworking hands! Sterile. **Latex-Free.**

Item#	Description	Quantity
CURAD® Extreme Lengths Flex-Fabric™ Bandages, Sterile		
CU01101	34" x 434" (1.9 x 12.1 cm)	20 ea/bx. 24 bx/cs



CU01101 ¾" Extreme Lengths Flex-Fabric™

CURAD® Extreme Hold Bandages Protect hardworking hands

CURAD® Extreme Hold are bandages designed to protect hardworking hands. They are made with a heavy-duty fabric for maximum protection, and the sure stick adhesive means the bandage will stay on until you want it off! CURAD® Extreme Hold has a bandage for every size cut or scrape. There are special shaped bandages for knuckles and fingertips, as well as regular and extra large bandages. It is the ideal assortment for your hardworking life. Sterile. **Latex-Free.**

Item#	Description	Quantity
CURAD® E	xtreme Hold Bandages, Sterile	
CUR14924	Extreme Hold, Assorted 4 – 2" x 3¾" (5.08 x 9.5 cm),	30 ea/bx, 24 bx/cs
	4 – Knuckle, 4 – Fingertip, 18 – %" x 3" (2.2 x 7.62 cm)	
CUR14926	10 - 3¾" x 2" (9.5 x 5.08 cm)	10 ea/bx, 24 bx/cs
CUR14925	20 - 1" x 3" (2.5 x 7.62 cm)	20 ea/bx, 24 bx/cs



CUR14924 Extreme Hold, Assorted

CURAD® Blister Heal™ Great for shallow wounds or prevention of blisters

These hydrocolloids are constructed with a smooth backing and a tapered edge for longer wear time. Sterile. **Latex Free.**

Item#	Description	Quantity
CURAD® BI	ister Heal [™] , Sterile	
CUR76123	0.82" x 1.6" (2.1 x 4.2 cm)	6 ea/bx, 24 bx/cs



CUR76123 Blister Heal

CURAD® Sheer Bandages

Ideal for less visible protection

Our sheer bandages are designed to blend with your skin for a more appealing look and help you hide the bandage while you heal. They are also made with a skin-friendly adhesive that doesn't leave a sticky, itchy residue on the skin, so you are ensured maximum comfort as you heal. Sterile. Latex-Free.

Item#	Description	Quantity
CURAD® Shee	r Bandages, Sterile	
CUR02279	80 – Sheer, ¾" x 21/8" (1.9 x 7.3 cm)	80 ea/bx, 24 bx/cs
CUR02277	10 - Sheer, 2" x 3¾" (5.08 x 9.5 cm)	80 ea/bx, 24 bx/cs
CUR4738	Sheer, Assorted	40 ea/bx, 24 bx/cs
CUR45243	Sheer, Assorted	80 ea/bx, 24 bx/cs



CUR02279 3/4" Sheer Bandages

CURAD® Flex-Fabric™ Bandages

Designed for people with active lifestyles who require a comfortable bandage to "stay put" even when wet

Our Flex-Fabric[™] bandages are made of woven fabric designed to stretch, bend, breathe and stay on comfortably, even when wet. The water-repellent coating keeps the bandages dry and secure. CURAD® uses a skin-friendly adhesive that doesn't leave a sticky, itchy residue on the skin, so you are ensured maximum comfort as you heal. Sterile. Latex-Free.

Item#	Description	Quantity
CURAD® Flex	c-Fabric™ Bandages	
CUR0700	Flex-Fabric™, Assorted	100 ea/bx,
	2" x 4" (5.1 x 10.2 cm)	24 bx/cs
	1" x 3" (2.5 x 7.6 cm)	
	%" x 21/4" (1.6 x 5.7 cm)	
	¾" x 3" (1.9 x 7.6 cm)	
CUR45246	10 - Fingertip, 1¾" x 2" (4.44 x 5.08 cm)	20 ea/bx,
	10 - Knuckle, 1½" x 3" (3.81 x 7.62 cm)	24 bx/cs



CUR0700 Flex-Fabric™ Bandages, Assorted

CURAD® Comfort Fabric Bandages

Our most comfortable fabric yet. Contours to your skin, soft to the touch, you'll hardly know you're wearing a bandage at all. Sterile. Latex Free.

Item#	Description	Quantity
CURAD® Cor	nfort Fabric Bandages	
CUR23050	¾" x 3" (1.9 x 7.6 cm)	30 ea/bx, 24 bx/cs
CUR23051	2" x 3" (5.1 x 7.6 cm)	8 ea/bx, 24 bx/cs



CUR23050 3/4" Comfort Fabric Bandages

CURAD® Sensitive Skin® Bandages

Ideal for sensitive skin

Our sensitive skin adhesive bandages have been specially designed to be gentle to your skin. Our ultralite fabric is breathable, comfortable and hypoallergenic. The absorbent non-stick pad is ouchless to remove. Innovative adhesive stays on longer. Sterile. **Latex-Free.**

Item#	Description	Quantity
CURAD® Sens	sitive Skin [®] Bandages, Sterile	
CUR45230	50 - 1/6" Spots (2.2 cm)	50 ea/bx, 24 bx/cs
CUR45168	Sensitive Skin®, Assorted 12 - 1/6" Spots (2.2 cm) 12 - 3/4" x 21/2" (1.9 x 6.4 cm) 6 - 11/6" x 21/2" (2.9 x 6.4 cm)	30 ea/ bx, 24 bx/cs
CUR45227	30 - ¾" x 2½" (1.9 x 6.4 cm)	30 ea/bx, 24 bx/cs
CUR45167	10 - 2" x 2%" (5.08 x 7.3 cm)	10 ea/bx, 24 bx/cs
CUR45228	Colors, 3/4" x 21/2" (1.9 x 6.4 cm)	30 ea/bx, 24 bx/cs



CUR45230 %" Sensitive Skin® Spots **CUR45168** Sensitive Skin®, Assorted



CUR45227 %4" Sensitive Skin® Bandages
CUR45167 2" Sensitive Skin® Bandages
CUR45228 %4" Sensitive Skin® Colors Bandages

CURAD® Mediplast®

Effective against corn, calluses and warts

Our adhesive cut-to-fit pads are soft, convenient and easy to use. The active ingredient used in Mediplast® is Salicylic Acid (40%), the highly effective ingredient widely recommended by physicians and pharmacists for the removal of corns, calluses and common warts. Adhesive

contains natural rubber latex.

Item#	Description	Quantity
CURAD® Me	diplast® Pads	
CUR01496	2" x 3" pads (5.08 x 7.62 cm)	25 ea/bx, 6 bx/cs



CUR01496 2" x 3" Mediplast® Pads

CURAD® Sesame Street® Plastic Bandages Ideal for everyday use for kids

Kids can collect all 30 unique and colorful designs. Our bandages are made from soft, flexible plastic and a skin-friendly adhesive that doesn't leave a sticky, itchy residue on the skin, so you are ensured maximum comfort as you heal. 20 assorted sizes per box. Sterile.

Latex-Free.

Sesame Street® and associated characters, trademarks and design elements are owned and licensed by Sesame Workshop. @2008 Sesame Workshop. All Rights Reserved.

Item#	Description	Quantity
CURAD® S	Sesame Street® Plastic Bandag	es, Sterile
CUR47069	Sesame Street®, Assorted	20 ea/bx,
	6 - 1/8" x 21/8" (2.9 x 5.4 cm)	24 bx/cs
	14 - 3/4 4" x 21/8" (1.9 x 5.4 cm)	



Relive the adventures of our favorite monkey with CURAD® Curious George[™] adhesive bandages. Each box includes 20 strips of assorted sizes (constructed from water resistant vinyl. An absorbent, non-stick island pad seals out dirt and germs and is "ouchless" to remove. A must-have bandage for any pediatrics unit. Latex-Free.

Item#	Description	Quantity	
CURAD® C	urious George [™] Adhesive Ban	dages	
CUR47067	Curious George [™] , Assorted	20 ea/bx,	
	6 - 11/8" x 21/8" (2.9 x 5.4 cm),	24 bx/cs	
	14 - 3/4" x 21/8" (1.9 x 5.4 cm)		

CURAD® Camp Camo Adhesive Bandages

Our authentic green, pink and blue camo patterns are printed on woven fabric that stretches with movement. Strong adhesive offers durable protection. The absorbent non-stick island pad is ouchless to remove. Ideal for knees, elbows and looking cool! Latex-Free.

Item#	Description	Quantity
CURAD® Camp Camo Adhesive Bandages, Fabric, Sterile		
CUR45701	Green, ¾" x 3" (1.9 x 7.62 cm)	25/bx, 24 bx/cs
CUR45702	13 - Pink, ¾" x 3" (1.9 x 7.62 cm) 12 - Blue, ¾" x 3" (1.9 x 7.62 cm)	25 bx/cs, 600/cs
CUR45704	Green, 3¾" x 2" (9.5 x 5.08 cm)	12 ea/bx, 24 bx/cs



CUR47069 Sesame Street® Bandages, Assorted



CUR47067 Curious George™ Bandages, Assorted



CUR45701 3/4" Camp Camo, Green CUR54702 3/4" Camp Camo, Pink

First Aid Kits

Bloodborne Pathogen Kit

30 pieces, personal protection use

Guards caregivers of ill or injured patients and protects during biohazard clean-up. Meets federal OSHA recommendations. Sturdy plastic case is easily portable or wall-mountable.

Contents:

- (1) Fluid control solidifier, 21 gm pack
- (1) Biohazard scoop
- (1) Disposable gown w/full sleeves
- (2) Disposable shoe covers
- (1) Disposable bonnet
- (2) 24" x 24" Biohazard bags, 10 gallon capacity
- (2) 8" x 12" Clear plastic bags
- (2) Twist ties
- (3) Disposable clean-up towels
- (2) Exam quality vinyl gloves, 1 pair
- (1) Eye shield with ear loop mask
- (3) Antiseptic cleansing wipes (sting free)
- (2) 5" x 8" Germicidal (kills germs) wipe, covers 7.5 sq. ft.
- (1) CPR Pack: 1 CPR one-way valve faceshield, latex free, 2 Exam quality vinyl gloves, and 3 antiseptic cleansing wipes (sting free)
- (1) Bodily Fluid Pick-up Guide

Kit dimensions: 9" x 8\%" x 2\%" $(22.9 \times 21.3 \times 6.4 \text{ cm})$

Item#	Quantity	
Bloodborne Pathogen Kit		
NONEAK100	1 kit	



NONFAK100 Bloodborne Kit

General First Aid Kit

106 pieces, 25 person use

Ideal for worksites with up to 25 employees. It meets federal OSHA recommendations and carries 17 critical products including a 4 oz. eye wash. The partitioned, water-resistant plastic case is wall mountable.

Contents:

- (3) 1¾" x 3" Large fingertip fabric bandages
- (2) 11/2" x 3" Knuckle fabric bandages
- (50) ¾" x 3" Adhesive plastic bandages
- (1) 5" x 9" Trauma pad
- (6) 2" x 2" Gauze dressing pads, (3) 2-pks
- (1) 2" Conforming gauze roll bandage
- (1) Sterile eye pad
- (1) 1/2" x 5 yd. First aid tape roll
- (1) Triangular sling/bandage
- (12) Antiseptic cleansing wipes (sting free)
- (6) Triple antibiotic ointment packs
- (12) Aspirin tablets, (6) 2-pks
- (1) 4" x 5" Instant cold compress
- (2) Exam quality vinyl gloves, 1 pair
- (1) 41/2" Scissors, nickel plated
- (1) 4" Tweezers, plastic
- (1) Eye wash, 4 oz.
- (3) Insect sting relief pads
- (1) First aid guide

Kit dimensions: 9" x 8%" x 2½" (22.9 x 21.3 x 6.4 cm)

Item#	Quantity
General First Aid Kit	
NONFAK200	1 kit



NONFAK200 General First Aid Kit

General Workplace Cabinet with additional injury treatment

206 pieces, 50 person use

Unique cabinet design eliminates disorganized and missing supplies. Clearly labeled compartment creates a cabinet easy to use and restock. With expansion pocket, you can customize your cabinet to meet your specific needs. Simple but effective system for recording and restocking. OSHA compliant.

Contents:

- (10) Patch Plastic Bandage, 11/2" x 11/2"
- (25) Fabric Bandage, 1" x 3"
- (25) Plastic Bandage, 3/4" x 3"
- (10) Fingertip Fabric Bandage
- (10) Knuckle Fabric Bandage
- (1) Elastic Bandage Wrap
- (10) Butterfly Wound Closure
- (1) Triangular Sling/Bandage, 40" x 40" x 56"
- (10) Gauze Dressing Pad, 2" x 2"
- (1) Conforming Gauze Roll, 2"
- (10) Gauze Dressing Pad, 3" x 3"
- (1) Conforming Gauze Roll, 3"
- (1) Trauma Pad, 5" x 9"
- (20) Alcohol Cleansing Pad
- (20) Antiseptic Cleansing Wipe (Sting Free)
- (10) Castile Soap Towelette
- (10) First Aid/Burn Cream
- (10) Antibiotic Ointment
- (1) First Aid Tape, 1/2" x 10 yd
- (1) Scissors
- (10) Moleskin (Blister Prevention), 2"
- (1) First Aid Guide
- (2) Exam quality vinyl gloves
- (1) 3" Stainless Steel Tweezers
- (1) CPR Face Shield and Vinyl Gloves

Kit dimensions: 13" x 14" x 41/8" (33 x 35.6 x 10.5 cm)

Item#	Quantity						
General Workplace Cabinet							
NONFAK300	1 kit						

NONFAK300 Workplace Cabinet

MEDLINE BIOGUARD BARRIER DRESSING, BULKEE II GAUZE ROLLS, 100% COTTON, STRETCHED, STERILE	MEDLINE	COVIDIEN
Barrier Bulkee II Gauze Rolls, 4½" x 4.1 yds, 6-ply 1 ea/roll, 100 rolls/cs	NON25865AM	3332
MEDLINE BIOGUARD BARRIER DRESSING, GAUZE SPONGES, 100% COTTON, STERILE	MEDLINE	COVIDIEN
Barrier Gauze Sponges, USP Type VII, Sterile 2's, 2" x 2", 8-ply 2 ea/pk, 50 pk/bx, 1500 pk/cs, 3000 ea/cs	NON21420AM	2506
Barrier Gauze Sponges, USP Type VII, Sterile 2's, 4" x 4", 12-ply 2 ea/pk, 25 pk/bx, 600 pk/cs, 1200 ea/cs	NON21424AM	2533
Barrier Gauze Sponges, USP Type VII, Sterile 10's in Plastic Tray, 4" x 4", 12-ply, 10 ea/tray, 128 trays/cs, 1280 ea/cs	NON21426AM	2539
MEDLINE BIOGUARD BARRIER DRESSING, BULKE SUPER FLUFF SPONGES, 100% COTTON, STERILE	MEDLINE	COVIDIEN
Barrier Bulkee Super Fluff, Sterile 2's in Soft Pouch Package, 6" x 6%" 2 ea/pk, 20 pk/bx, 12 bx/cs, 480 ea/cs	NON25852AM	6662
Barrier Bulkee Super Fluff, Sterile 5's in Soft Pouch Package, 6" x 6%" 5 ea/tray, 10 pk/bx, 12 bx/cs, 600 ea/cs	NON25853AM	6665
Barrier Bulkee Super Fluff, Sterile 10's in Plastic Tray, 6" x 6¾" 10 ea/tray, 480 ea/cs	NON25854AM	6660
MEDLINE BIOGUARD BARRIER DRESING, AVANT DRAIN SPONGE, RAYON/POLYESTER BLEND, STERILE 2'S	MEDLINE	COVIDIEN
Barrier Avant Drain Sponge, 4" x 4", 2 ea/pk, 25 pk/bx, 12 bx/cs, 600 ea/cs	NON256000AM	7088
MEDLINE BIOGUARD BARRIER DRESSING, PACKING STRIPS, 100% COTTON, STERILE	MEDLINE	COVIDIEN
Barrier Packing Strips, 1/4" x 1 yd, 10 ea/bx, 5 bx/cs, 50 ea/cs	NON7831AM	7831AMD
Barrier Packing Strips, ½" x 1 yd, 10 ea/bx, 5 bx/cs, 50 ea/cs	NON7832AM	7832AMD
Barrier Packing Strips, 1" x 1 yd, 10 ea/bx, 5 bx/cs, 50 ea/cs	NON7833AM	7833AMD
MEDLINE BIOGUARD BARRIER DRESSING, NON-ADHERENT PADS, RAYON/POLYESTER BLEND, STERILE	MEDLINE	COVIDIEN
Barrier Non-Adherent Pads, 3" x 8", 50/bx, 12 bx/cs, 600/cs	NON25720AM	7663
MEDLINE BIOGUARD BARRIER DRESSING, CONFORMING BANDAGE, RAYON/POLYESTER BLEND, STERILE	MEDLINE	COVIDIEN
Barrier Dressing Conforming Bandage, 4" x 4.1 yd, 1 ea/roll, 100 rolls/cs	NON25498AM	

STERILE GAUZE SPONGES	MEDLINE	J&J	COVIDIEN (Kendall)	CARDINAL HEALTH (Allegiance)	CARING	COVIDIEN DERMACEA
Gauze 2" x 2", 8-ply, Sterile 2's 50 pk/bx, 30 bx/cs (3000/cs)	NON21420	2318	1806	GZ2208-2	PRM21420	441204
Gauze 3" x 3", 12-ply, Sterile 2's 40 pk/bx, 30 bx/cs (2400/cs)	NON21422	1903	N/A		PRM21422	441208
Gauze 4" x 4", 8-ply, Sterile 2's 50 pk/bx, 12 bx/cs (1200/cs)	NON21448	2315	2187	GZ4408-2	PRM21448	442213
Gauze 4" x 4", 12-ply, Sterile 2's 25 pk/bx, 24 bx/cs (1200/cs)	NON21424	2317	3033	GZ4412-2	PRM21424	442212
Gauze 4" x 4", 12-ply, Sterile 10's 10/tray, 128 pk/cs (1280/cs)	NON21426	2322 960/cs	6939	GZ4412-10	PRM21426	442214
Gauze 4" x 4", 16-ply, Sterile 10's 10/tray, 128 pk/cs (1280/cs)	NON21428	2329 720/cs	7605	GZ4416-10	PRM21428	442215
Gauze 4" x 4", 8-ply, Sterile 10's 10/tray, 128 pk/cs (1280/cs)	NON21425	2321	6318			
Gauze 4" x 8", 12-ply, Sterile 2's 25 pk/bx,20 bx/cs (1000/cs)	NON21842	2259				
NON-STERILE GAUZE SPONGES	MEDLINE	J&J	COVIDIEN	CARDINAL HEALTH		
Gauze 2" x 2", 8-ply, N/S 200/pk, 25 pk/cs (5000/cs)	NON25208	7612	2146	GZ2208		
Gauze 2" x 2", 12-ply, N/S 200/pk, 40 pk/cs (8000/cs)	NON25212		2252	GZ2212		
Gauze 3" x 3", 12-ply, N/S 200/pk, 20 pk/cs (4000/cs)	NON25312		2346	GZ3312		
Gauze 4" x 4", 8-ply, N/S 200/pk, 20 pk/cs (4000/cs)	NON25408	7610	2556	GZ4408		
Gauze 4" x 4", 12-ply, N/S 200/pk, 10 pk/cs (2000/cs)	NON25412	7623	2634	GZ4412		
Gauze 4" x 4", 16-ply, N/S 200/pk, 10 pk/cs (2000/cs)	NON25416		2733	GZ4416		
Gauze 8" x 4", 12-ply, N/S 200/pk, 10 pk/cs (2000/cs)	NON25812		2835	GZ8412		
X-RAY DETECTABLE GAUZE SPONGES	MEDLINE	J&J	COVIDIEN	CARDINAL HEALTH	CARING	COVIDIEN DERMACEA
Gauze X-Ray Detect, 4" x 4", 16-ply, Sterile 10's 10/tray, 128 trays/cs (1280/cs)	NON21430LF	2515 720/cs	7317 1350/cs	GT4416-10	PRM21430LF	441002
Gauze X-Ray Detect, 8" x 4", 12-ply, Sterile 10's 10/tray, 80 trays/cs (800/cs)	NON21432LF	2520 480/cs	7318	GT8412-10 48 trays/cs, 480/cs	PRM21432LF	441602
Gauze X-Ray Detect, 4" x 4", 32-ply, Sterile 10's 10/tray, 48 trays/cs (480/cs)	NON21433		7320			
Gauze X-Ray Detect, 8" x 4", 24-ply, Sterile 10's 10/tray, 20 trays/cs (200/cs)	NON21438		7321		PRM21438LF	441606
NON-STERILE X-RAY DETECTABLE GAUZE SPONGES	MEDLINE	J&J	COVIDIEN	CARDINAL HEALTH	CARING	COVIDIEN DERMACEA
Gauze X-Ray Detect 4" x 4" 16 ply, N/S 10 sponges/band, 100/sleeve, 2000/cs	NON25430		7114		PRM25430	441601
Gauze X-Ray Detect 8" x 4" 12 ply, N/S 10 sponges/band, 100/sleeve, 2000/cs	NON25432		7462		PRM25432	441603
COTTON DRAIN SPONGES	MEDLINE					
100% Cotton, 4" x 4", 16-ply, Sterile 1/pk 25/bx, 12 bx/cs	NON255000					

	T			
NON-WOVEN SPONGES – AVANT DELUXE	MEDLINE	J&J	COVIDIEN	CARDINAL HEALTH
	NONOCALA	"Nu-Gauze"		(Allegiance)
Avant Deluxe Gauze Non-Woven 4" x 4", 4-ply, Sterile 2's 50 pk/bx, 12 bx/cs (1200/cs)	NON264442	2337		
Avant Deluxe Gauze Non-Woven 2" x 2", 3-ply, N/S 200/pk, 40 pk/cs (8000/cs)	NON26223	7635		
Avant Deluxe Gauze Non-Woven 2" x 2", 4-ply, N/S 200/pk, 40 pk/cs (8000/cs)	NON26224	7632		
Avant Deluxe Gauze Non-Woven 3" x 3", 4-ply, N/S 200/pk, 20 pk/cs (4000/cs)	NON26334	7633		
Avant Deluxe Gauze Non-Woven 4" x 4", 3-ply, N/S 200/pk, 10 pk/cs (2000/cs)	NON26443	7636		
Avant Deluxe Gauze Non-Woven 4" x 4", 4-ply, N/S 200/pk, 10 pk/cs (2000/cs)	NON26444	7634		
NON-WOVEN GAUZE SPONGES – AVANT GAUZE	MEDLINE	J&J	COVIDIEN "Versalon"	CARDINAL HEALTH
Avant Gauze Non-Woven, 2" x 2", 4-ply, Sterile 2's 50 pk/bx, 30 bx/cs (3000/cs)	NON21224		8042	NW2204-2
Avant Gauze Non-Woven, 3" x 3", 4-ply, Sterile 2's 40 pk/bx, 30 bx/cs (2400/cs)	NON21334		8043	NW3304-2 1200/cs
Avant Gauze Non-Woven, 4" x 4", 4-ply, Sterile 2's 50 pk/bx, 12 bx/cs (1200/cs)	NON21444		8044	NW4404-2
Avant Gauze Non-Woven, 4" x 4", 6-ply, Sterile 2's 25 pk/bx, 12 bx/cs (600/cs)	NON21446		7084	NW4406-2
Avant Gauze Non-woven, 4" x 4", 4 ply, Sterile 10's 10/tray 128 trays per case	NON21449		8047	N/A
Avant Gauze Non-Woven, 2" x 2", 4-ply, N/S 200/pk, 40 pk/cs (8000/cs)	NON25224		9022	NW2204
Avant Gauze Non-Woven, 3" x 3", 4-ply, N/S 200/pk, 20 pk/cs (4000/cs)	NON25334		9023	NW3304 8000/cs
Avant Gauze Non-Woven, 4" x 4", 4-ply, N/S 200/pk, 10 pk/cs (2000/cs)	NON25444		9024	NW4404
DRAIN SPONGES - AVANT GAUZE	MEDLINE	J&J	COVIDIEN	CARDINAL HEALTH
Avant Gauze Non-Woven Drain Sponges, 4" x 4", 6-ply, Sterile 2's 25 pk/bx, 12 bx/cs (600/cs)	NON256000	2391	7086	DR4406-2
Avant Gauze Non-Woven Drain Sponges, 2" x 2", 6-ply, Sterile 2's 35 pk/bx, 20 bx/cs (1400/cs)	NON256001	2392	7087	VS2206-2
POST-OP SPONGES	MEDLINE	J&J "Topper"	COVIDIEN "Cover"	CARDINAL HEALTH
Post-Op Sponges, 4" x 4", Sterile 2's, 25 pk/bx, 24 bx/cs (1200/cs)	NON21442	2436	2913	CV0404-2
Post-Op Sponges, 4" x 3", Sterile 2's, 25 pk/bx, 24 bx/cs (1200/cs)	NON21441	2435/2345	3157	CV0403-2
ABD PADS	MEDLINE	J&J "Surgipad"	COVIDIEN "Tendersorb/Curity"	CARDINAL HEALTH
ABD Pads, 5" x 9", Sterile 1's, 25/bx, 16 bx/cs (400/cs)	NON21450	2145	9190/7196 256/cs/400/cs	AB0509-1
ABD Pads, 8" x 7½", Sterile 1's, 20/bx, 12 bx/cs (240/cs)	NON21453	2144 200/cs/240/cs	9192/7197 500/cs	AB0875-1
ABD Pads, 8" x 10", Sterile 1's, 18/bx, 20 bx/cs (360/cs)	NON21454	2148 320/cs	9194/7198 144/cs/360/cs	AB0810-1
ABD Pads, 5" x 9", N/S Bulk (576/cs)	NON21451		8190/6196	AB0509
ABD Pads, 8" x 7½", N/S Bulk (576/cs)	NON21452		8192/6197	AB0875
ABD Pads, 8" x 10", N/S Bulk (432/cs)	NON21456		8194/6198	AB0810

BULKEE II GAUZE BANDAGES	MEDLINE	J&J "Kling Fluff"	COVIDIEN (Kendall) "Kerlix"	CARDINAL HEALTH (Allegiance) "Hi-Bulk"
Bulkee II Gauze Rolls, 4.5" x 4.1 yds, Sterile 1's, (100/cs)	NON25865	6930	6715	FR4541-1
Bulkee II Gauze Rolls, 3.4" x 3.6 yds, Sterile 1's, (96/cs)	NON25861	6964	6725	FR3436-1
Bulkee II Gauze Rolls, 4.5" x 4.1 yds, N/S, (100/cs)	NON25855	6937	1892	FR4541
BULKEE FLUFF SPONGES	MEDLINE	J&J "Kling Fluff"	COVIDIEN "Kerlix Super"	CARDINAL HEALTH
Bulkee Super Fluff Sponge, 6" x 6¾" Diagonal, Sterile 2's 20/bx, 12 bx/cs (480/cs)	NON25852	2335 20/bx, 9 bx/cs	2585	FLFM-2
Bulkee Super Fluff Sponge, 6" x 6%" Diagonal, Sterile 5's 5/tray, 120 trays/cs (600/cs)	NON25853	2336 5/pk, 90 pk/cs	3085	FLFM-5
Bulkee Super Fluff Sponge, 6" x 6¾" Diagonal, Sterile 10's 10/tray, 48 trays/cs (480/cs)	NON25854	2334	7310	FLFM-10
Bulkee Super Fluff Sponge, Large, 7¾" x 8¾" Diagonal Sterile 2's, 25 pks/bx, 16 bx/cs (400/cs)	NON25856		4308	
Bulkee, 4" x 4", 12 ply Sponge, Sterile 2's 25 pks/bx, 24 bx/cs (1200/cs)	NON25844		5072	
Bulkee, 4" x 4", 12 ply Sponge, Sterile 10's 10 ea/tray, 128 trays/cs (1280/cs)	NON25884		6120	
BULKEE LITE	MEDLINE	J&J "Kling"	COVIDIEN "Kerlix Lite"	CARDINAL HEALTH
Bulkee Lite Conforming bandages, 2" x 3.5 yds, N/S 12/bx, 8 bx/cs (96/cs)	NON27492	6902	8052	PR0402
Bulkee Lite Conforming bandages, 3" x 4.1 yds, N/S 12/bx, 8 bx/cs (96/cs)	NON27493	6903	8053	PR0403
Bulkee Lite Conforming bandages, 4" x 4.1 yds, N/S 12/bx, 8 bx/cs (96/cs)	NON27494	6904	8054	PR0404
Bulkee Lite Conforming bandages, 6" x 4.5 yds, N/S 6/bx, 8 bx/cs (48/cs)	NON27495	6906	8056	PR0406
Bulkee Lite Conforming bandages, 2" x 3.5 yds, Sterile 1's 12/bx, 8 bx/cs (96/cs)	NON27496	6922	8072	PR0402-1
Bulkee Lite Conforming bandages, 3" x 4.1 yds, Sterile 1's 12/bx, 8 bx/cs (96/cs)	NON27497	6923	8073	PR0403-1
Bulkee Lite Conforming bandages, 4" x 4.1 yds, Sterile 1's 12/bx, 8 bx/cs (96/cs)	NON27498	6924	8074	PR0404-1
Bulkee Lite Conforming bandages, 6" x 4.5 yds Sterile 1's 6/bx, 8 bx/cs (48/cs)	NON27499	6926	8076	PR0406-1
BURN DRESSINGS	MEDLINE	COVIDIEN "Curity Burn"	MEDICAL ACTION "Burn Dressings"	DE ROYAL "Burn Dressings"
Burn Dressing, 18" x 18", 10-ply, Sewn, 1 ea/pk, 80 pk/cs	NON7911	7911	1291815	105107
Burn Dressing, 18" x 18", 2-ply, Sewn, 2 ea/pk, 100 pk/cs	NON7912		1291830	
Burn Dressing, 18" x 18", 4-ply, Sewn, 5 ea/pk, 40 pk/cs	NON7913		1292705	1010105500
Burn Dressing, 18" x 18", 50-ply, Unsewn, 1 ea/pk, 20 pk/cs	NON7915	7960	1291828	105106
Burn Dressing, 36" x 36", 18-ply, Unsewn, 1 ea/pk, 20 pk/cs	NON7916		1291872	106108
Burn Dressing, 6" x 6", 45-ply, Sewn, 6 ea/tray, 20 tray/cs	NON216645	2963		

STERILE SOF-FORM	MEDLINE	J&J	COVIDIEN	COVIDIEN (Kendall) "Conform"		DINAL HEALTH	
		"Sof-Kling"	(Kendall) "Cor	ntorm"	(Alleg	iance)	
Sof-Form Bandages, 1" x 75", Sterile 1's 12/bx, 8 bx/cs, 96/cs	NON254955						
Sof-Form Bandages, 2" x 75", Sterile 1's 12/bx, 8 bx/cs, 96/cs	NON25496	6992	2231	2231		GR0402-1	
Sof-Form Bandages, 3" x 75", Sterile 1's 12/bx, 8 bx/cs, 96/cs	NON25497	993 72/cs	2232		GR04	103-1	
Sof-Form Bandages, 4" x 75", Sterile 1's 12/bx, 8 bx/cs, 96/cs	NON25498	6994 72/cs	2236		GR04	104-1	
Sof-Form Bandages, 6" x 80", Sterile 1's 6/bx, 8 bx/cs, 48/cs	NON25499	6996 48/cs	2238		GR04	106-1	
NON-STERILE SOF-FORM	MEDLINE	J&J "Sof-Kling"	COVIDIEN "Conform"		CARI	DINAL HEALTH	
Sof-Form Bandages, 1" x 75", N/S 12/bx, 8 bx/cs, 96/cs	NON25491	6981	2239		GR04	101	
Sof-Form Bandage, 2" x 75", N/S 12/bx, 8 bx/cs, 96/cs	NON25492	6982	2242		GR04	102	
Sof-Form Bandage, 3" x 75", N/S 12/bx, 8 bx/cs, 96/cs	NON25493	6983	2244		GR04	103	
Sof-Form Bandage, 4" x 75", N/S 12/bx, 8 bx/cs, 96/cs	NON25494	6984	2247		GR04	104	
Sof-Form Bandage, 6" x 80", N/S 6/bx, 8 bx/cs, 48/cs	NON25495	6986	2249		GR04	106	
ELASTIC NET, 25 yards Latex-Free	MEDLINE	Glenwood/ Western Medical "Surgilast"	Medi-Tech "Spandage"	DeRoyal 1% Late "Stretch	×	Medical Action "SePro Net"	
Fingers, toes, wrist, Size 1	NONNET01	GLLF2501	MT01	10-7421		53110LF	
Small hand, arm, leg, foot, Size 2	NONNET02	GLLF2502	MT02	10-7422		53120LF	
Medium hand, arm, leg, Size 3	NONNET03	GLLF2503	MT03	10-7433		53130LF	
Large hand, arm, leg, foot, Size 4	NONNET04	GLLF2504	MT04	10-7424		53140LF	
Small head, shoulder, thigh, Size 5	NONNET05	GLLF2505	MT05	10-7425		53150LF	
Large head, shoulder, thigh, Size 6	NONNET06	GLLF2506	MT06	10-7427		53160LF	
Small chest, back, perineum, axilla, Size 7	NONNET07	GLLF2507	MT07	10-7428		53170LF	
Medium chest, back, perineum, axilla, Size 8	NONNET08	GLLF2508	MT08	10-7429		53180LF	
Large chest, back, axilla, perineum, Size 9	NONNET09	GLLF2509	MT09	10-7430		53190LF	
X-lg chest, back, axilla, perineum, Size 10	NONNET10	GLLF25010	MT010	10-7431		53210LF	
XX-lg chest, back, axilla, perineum, Size 11	NONNET11	GLLF25011	MT011	10-7432		53220LF	
3X-lg chest, back, axilla, perineum, Size 12	NONNET12	GLLF25012	MT012	10-7433			
Custom size	NONNET22		MT022				
ELASTIC NET, PRE-CUT INDIVIDUAL SIZES							
Finger, toe & wrist, Size 1, 24" Long	NONNET124P		MT1X24				
Small hand, arm, leg, foot, Size 2, 24" Long	NONNET224P		MT2X24				
Medium hand, arm, leg, foot, Size 3, 24" Long	NONNET324P		MT3X24				
Large hand, arm, leg, foot, Size 4, 24" Long	NONNET424P		MT4X24				
Small head, shoulder, thigh, Size 5, 24" Long	NONNET524P		MT5X24				
Large head, shoulder, thigh, Size 6, 24" Long	NONNET624P		MT6X24				
Large head, shoulder, thigh, Size 6, 36" Long	NONNET636P		MT6X36				
Small chest, back, perineum, axilla, Size 7, 24" Long	NONNET724P		MT7X24				
Small chest, back, perineum, axilla, Size 7, 36" Long	NONNET736P		MT7X36				
Medium chest, back, perineum, axilla, Size 8, 24" Long	NONNET824P		MT8X24				

ELASTIC NET DE CUIT INDIVIDUAL CIZEO	MEDLINE		Mod: Tools			
ELASTIC NET, PRE-CUT INDIVIDUAL SIZES	MEDLINE		Medi-Tech "Spandage"			
Large chest, back, perineum, axilla, Size 9, 24" Long	NONNET924P		MT9X24			
X-large chest, back, perineum, axilla, Size 10, 24" Long	NONNET1024P		MT10X24			
XX-large chest, back, perineum, axilla, Size 11, 24" Long	NONNET1124P		MT11X24			
3X-large chest, back, perineum, axilla, Size 12, 24" Long	NONNET1124P		MT12X24			
Custom Size, Size 22, 24" Long	NONNET1124P		MT22X24			
MATRIX ELASTIC BANDAGE, STERILE	MEDLINE	HARTMANN		CARDINAL HEALTH (Allegiance)	AVCOR	TETRA
Matrix Elastic Bandage, 2" x 5 yds, latex free, 20/cs	DYNJ05152LF	59720000		23593-12LF	12LF	66112S
Matrix Elastic Bandage, 3" x 5 yds, latex free, 20/cs	DYNJ05153LF	59730000		23593-13LF	13LF	66113S
Matrix Elastic Bandage, 4" x 5 yds, latex-free, 20/cs	DYNJ05154LF	59740000		23593-14LF	14LF	66114S
Matrix Elastic Bandage, 6" x 5 yds, latex-free, 20/cs	DYNJ05156LF	59760000		23593-16LF	16LF	66116S
Matrix Elastic Bandage, 6" x 10 yds, latex-free, 20/cs	DYNJ05157LF	59790000				S61126
Matrix Elastic Bandage, 6" x 15 yds, latex-free, 20/cs	DYNJ05158LF			23593-S960	96LF	S61116
MATRIX ELASTIC BANDAGE, NON-STERILE	MEDLINE	HARTMANN		CARDINAL HEALTH	AVCOR	TETRA
Matrix Elastic Bandage, 2" x 5 yds, latex-free 10/bx, 5 bx/cs, 50/cs	MDS087002LF	59120000		23593-02LF	02LF	661120
Matrix Elastic Bandage, 3" x 5 yds, latex-free 10/bx, 5 bx/cs, 50/cs	MDS087003LF	59130000		23593-03LF	03LF	661130
Matrix Elastic Bandage, 4" x 5 yds, latex-free 10/bx, 5 bx/cs, 50/cs	MDS087004LF	59140000		23593-04LF	04LF	661140
Matrix Elastic Bandage, 6" x 5 yds, latex-free 10/bx, 5 bx/cs, 50/cs	MDS087006LF	59160000		23593-06LF	06LF	661160
Matrix Elastic Bandage, 4" x 10 yds, latex-free 4/bx, 5 bx/cs, 20/cs	MDS087104LF	59180000			940	661124
Matrix Elastic Bandage, 6" x 10 yds, latex-free 4/bx, 5 bx/cs, 20/cs	MDS087106LF	59190000				661126
Matrix Elastic Bandage, 6" x 15 yds, latex-free 4/bx, 5 bx/cs, 20/cs	MDS087156LF			23593-960	960	661116

SOFT WRAP, STERILE	MEDLINE	HARTMANN			AVCOR	TETRA
Soft-Wrap, 2" x 5 yds, latex-free, 20/cs	DYNJ05125	27200000			23599-12LF	01312S
Soft-Wrap, 3" x 5 yds, latex-free, 20/cs	DYNJ05126	27300000			23599-13LF	01313S
Soft-Wrap, 4" x 5 yds, latex-free, 20/cs	DYNJ05131	27400000			23599-14LF	01314S
Soft-Wrap, 6" x 5 yds, latex-free, 20/cs	DYNJ05132	27600000			23599-16LF	01316S
SOFT WRAP, NON-STERILE	MEDLINE	HARTMANN	COVIDIEN	CARDINAL HEALTH	AVCOR	TETRA
Soft-Wrap, 2" x 5 yds, latex-free 10/bx, 5 bx/cs, 50/cs	MDS046002	38200000	3302	23606-020	23599-02LF	15120
Soft-Wrap, 3" x 5 yds, latex-free 10/bx, 5 bx/cs, 50/cs	MDS046003	39300000	3550	23606-030	23599-03LF	15130
Soft-Wrap, 4" x 5 yds, latex-free 10/bx, 5 bx/cs, 50/cs	MDS046004	38400000	3616	23606-040	23599-04LF	15140
Soft-Wrap, 6" x 5 yds, latex-free 10/bx, 5 bx/cs, 50/cs	MDS046006	39600000	3930	23606-060	23599-06LF	15160
OWET WOAD OTEN!	MEDINE	HADTMANN			AVOOD	TETDA
SWIFT WRAP, STERILE	MEDLINE	HARTMANN			AVCOR	TETRA
Swift Wrap, 2" x 5 yds, 20/cs	DYNJ05144	59920000			23599-120	S620LF
Swift Wrap, 3" x 5 yds, 20/cs	DYNJ05145	59930000			23599-130	S630LF
Swift Wrap, 4" x 5 yds, 20/cs	DYNJ05146	59940000 59960000				S640LF
Swift Wrap, 6" x 5 yds, 20/cs	DYNJ05147	39900000				S660LF
SWIFT WRAP, NON-STERILE	MEDLINE	HARTMANN	COVIDIEN		AVCOR	TETRA
Swift Wrap, 2" x 5 yds, 10/bx, 5 bx/cs, 50/cs	MDS077002	59520000	4202		23599-32LF	6620LF
Swift Wrap, 3" x 5 yds, 10/bx, 5 bx/cs, 50/cs	MDS077003	59530000	4203		23599-33LF	6630LF
Swift Wrap, 4" x 5 yds, 10/bx, 5 bx/cs, 50/cs	MDS077004	59540000	4204		23599-34LF	6640LF
Swift Wrap, 6" x 5 yds, 10/bx, 5 bx/cs, 50/cs	MDS077006	59560000	4206		23599-36LF	6660LF
SURE WRAP, NON-STERILE	MEDLINE	HARTMANN	COVIDIEN	CARDINAL HEALTH	AVCOR	TETRA
Sure Wrap, 2" x 5 yds, beige, latex-free 10/bx, 5 bx/cs, 50/cs	MDS055002	54200000	4422	23602-02LF	23599-021	13120
Sure Wrap, 3" x 5 yds, beige, latex-free 10/bx, 5 bx/cs, 50/cs	MDS055003	54300000	4423	23602-03LF	23599-031	13130
Sure Wrap, 4" x 5 yds, beige, latex-free 10/bx, 5 bx/cs, 50/cs	MDS055004	54400000	4424	23602-04LF	23599-041	13140
Sure Wrap, 6" x 5 yds, beige, latex-free 10/bx, 5 bx/cs, 50/cs	MDS055006	54600000	4426	23602-06LF	23599-061	13160
Sure Wrap, 2" x 5 yds, white 10/bx, 5 bx/cs, 50/cs	MDS057002	16200000		23602-021		51020
Sure Wrap, 3" x 5 yds, white 10/bx, 5 bx/cs, 50/cs	MDS057003	16300000		23602-031		51030
Sure Wrap, 4" x 5 yds, white 10/bx, 5 bx/cs, 50/cs	MDS057004	16400000		23602-041		51040
Sure Wrap, 6" x 5 yds, white 10/bx, 5 bx/cs, 50/cs	MDS057006	16600000		23602-061		51060

3M "Micropore"
1530-0
1530-2 120/cs
1530-2 60/cs
1530-3
1530S-1
1530S-2
3M
"Durapore"
240/cs 1538-1 120/cs
1538-2 60/cs
1538-3
1538S-1
3M "Transpore"
15270-0 240/cs
1527-1 120/cs
1527-2 60/cs
1527-3 40/cs
1527S-1
3M "Steri-Strip"
R1540
R1541
R1542
R1546
R1547
R1548

CURAD PETROLATUM GAUZE	MEDLINE	COVIDIEN
CURAD Petrolatum Gauze, Overwrap,1" x 36", 12/bx, 72/cs	CUR251136W	8884422600
CURAD Petrolatum Gauze, Overwrap, ½" x 72", 12/bx, 72/cs	CUR251272W	8884421600
CURAD Petrolatum Gauze, Overwrap, 3" x 36", 12/bx, 72/cs	CUR251336W	8884425600
CURAD Petrolatum Gauze, Overwrap, 3" x 9", 12/bx, 72/cs	CUR251390W	8884423600
CURAD Petrolatum Gauze, Overwrap, 3" x 18", 12/bx, 72/cs	CUR251318W	8884424600
CURAD Petrolatum Gauze, Overwrap, 1" x 8", 50/bx, 200/cs	CUR251180W	8884427601
CURAD Petrolatum Gauze, 1" x 36", 12/bx, 72/cs	CUR251136	8884412600
CURAD Petrolatum Gauze, ½" x 72", 12/bx, 72/cs	CUR251272	8884411600
CURAD Petrolatum Gauze, 3" x 36", 12/bx, 72/cs	CUR251336	8884415600
CURAD Petrolatum Gauze, 3" x 9", 50/bx, 200/cs	CUR251390	8884413605
CURAD Petrolatum Gauze, 1" x 8", 50/bx, 200/cs	CUR251180	8884417601
CURAD Petrolatum Gauze, 3" x 18", 12/bx, 72/cs	CUR251318	8884414600
CURAD Petrolatum Gauze, 6" x 36", 12/bx, 72/cs	CUR251636	8884416600
CURAD XEROFORM GAUZE	MEDLINE	COVIDIEN
CURAD Xeroform Gauze, Overwrap, 5" x 9", 50/bx, 200/cs	CUR253590W	8884431605
CURAD Xeroform Gauze, Overwrap, 1" x 8", 50/bx, 200/cs	CUR253180W	8884431302
CURAD Xeroform Gauze, 5" x 9", 50/bx, 200/cs	CUR253590	8884433605
CURAD Xeroform Gauze, 2" x 2", 25/bx, 150/cs	CUR253220	8884433400
CURAD Xeroform Gauze, 4" x 4", 25/bx, 150/cs	CUR253440	8884433500
CURAD Xeroform Gauze, 1" x 8", 50/bx, 200/cs	CUR253180	8884433301
CURAD OIL EMULSION GAUZE	MEDLINE	COVIDIEN
CURAD Oil Emulsion Gauze, 3" x 8", 3/pk, 108/bx, 648/cs	CUR250383	6115
CURAD Oil Emulsion Gauze, 3" x 3", 50/bx, 600/cs	CUR250330	6112
CURAD Oil Emulsion Gauze, 3" x 8", 1/pk, 24/bx, 144/cs	CUR250381	6113
CURAD Oil Emulsion Gauze, 3" x 16", 36/bx, 216/cs	CUR250317	6114

ADHESIVE BANDAGES - PLASTIC	MEDLINE	J&J "Band-Aid"	COVIDIEN (Kendall) "Curity"	CARDINAL HEALTH (Allegiance)
Adhesive Bandage, ¾" x 3" – Sheer-Gard 100/bx, 12 bx/cs, 1200/cs	NON25500	4634	3065 3600/cs	BS3403 9600/cs
Adhesive Bandage, 1" x 3" – Sheer-Gard 100/bx, 12 bx/cs, 1200/cs	NON25600	4644 1500/cs	3270 3600/cs	BS0103 9600/cs
Adhesive Bandage, X-Lg, 2" x 4" – Sheer-Gard 50/bx, 12 bx/cs, 600/cs	NON25504	5716 2" x 4½" 900/cs	7539 1200/cs	BS0245
Adhesive Bandage, %" x 1½" – Sheer-Gard "Junior" 100/bx, 36 bx/cs, 3600/cs	NON25509	4633		
Adhesive Bandage, 7/8" Spot – Sheer-Gard 100/bx, 12 bx/cs, 1200/cs	NON25501	4930 3600/cs	6403 3600/cs	BS0078 20,000/cs
Adhesive Bandage, 5" x 3" – Medtoons 50/bx, 24 bx/cs, 1200/cs	NON256130		9519	
ADHESIVE BANDAGES – WOVEN CLOTH	MEDLINE	J&J "Band-Aid"	COVIDIEN	CARDINAL HEALTH
Adhesive Bandage, ¾" x 3" – Comfort Cloth 100/bx, 12 bx/cs, 1200/cs	NON25650	4434	5024	BF3403 7680/cs
Adhesive Bandages, 1" x 3" – Comfort Cloth 100/bx, 12 bx/cs, 1200/cs	NON25660	4444	6135	BF0103 7680/cs
Adhesive Bandage Knuckle – Comfort Cloth 100/bx, 12 bx/cs, 1200/cs	NON25510	4438	6411	BF0001 4400/cs
Adhesive Bandage Fingertip – Comfort Cloth 100/bx, 12 bx/cs, 1200/cs	NON25513	4436	6409	BF0002 4200/cs
Adhesive Bandage 2" x 4" – Flex-Fabric 50/bx, 12 bx/cs, 600/cs	NON25524		6136	
ADHESIVE BANDAGE – MEDTOON	MEDLINE	J&J "Band-Aid"	COVIDIEN	CARDINAL HEALTH
Adhesive Bandage, ¾" x 3" – Medtoon 50/bx, 24 bx/cs, 1200/cs	NON256130	AB67	9519 91300	1075737 1073737
ADHESIVE BANDAGE - SESAME STREET	MEDLINE	J&J "Band-Aid"	COVIDIEN	CARDINAL HEALTH
Adhesive Bandage, %" x 3" – Sesame Street 50/bx, 24 bx/cs, 1200/cs	NON47070	AB67	9519 91300	1076538 1076137

TUBE GAUZE	MEDLINE	MEDICAL ACTION		DERMA SCIENCES	
5%" x 50 yds Tubular Gauze	NONTUB058	58200 61033		GL-241	
1" x 50 yds Tubular Gauze	NONTUB100	58201		GL-220	
1½" x 50 yds Tubular Gauze	NONTUB112	58202 61024		GL-243	
25%" x 50 yds Tubular Gauze	NONTUB258	58203		GL-222	
35/8" x 50 yds Tubular Gauze	NONTUB358	58204		GL-223	
SELF-ADHERENT BANDAGES, STERILE	MEDLINE			COVIDIEN (Kendall) "Flex-Wrap"	3M "Coban"
Co-Flex Med, 2" x 5 yds stretched, tan, 20 rolls/cs	DYNJ086002				
Co-Flex Med, 3" x 5 yds stretched, tan, 20 rolls/cs	DYNJ086003			4583S	1583S
Co-Flex Med, 4" x 5 yds stretched, tan, 20 rolls/cs	DYNJ086004			4584S 18/pk	1584S 18/pk
Co-Flex Med, 6" x 5 yds stretched, tan, 20 rolls/cs	DYNJ086006			4586S 12/pk	1586S 12/pk
SELF-ADHERENT BANDAGES, NON-STERILE	MEDLINE		ANDOVER	COVIDIEN	3M "Coban"
SELI ADILETENI DANDAGES, NON STETILE	MEDENTE		"Co-Flex Med"	"Flex-Wrap"	Old Cobair
Co-Flex Med, 1" x 5 yds stretched, tan, 30 rolls/cs	MDS086001		7100TN	4581	1581
Co-Flex Med, 2" x 5 yds stretched, tan, 36 rolls/cs	MDS086002		7200TN	4582	1582
Co-Flex Med, 3" x 5 yds stretched, tan, 24 rolls/cs	MDS086003		7300TN	4583	1583
Co-Flex Med, 4" x 5 yds stretched, tan, 18 rolls/cs	MDS086004		7400TN	4584	1584
Co-Flex Med, 6" x 5 yds stretched, tan, 12 rolls/cs	MDS086006		7600TN	4586	1586
SELF-ADHERENT BANDAGE, NON-STERILE, Latex-Free	MEDLINE		ANDOVER "Co-Flex LF2"		3M "Coban"
Co-Flex LF ² , 1" x 5 yds stretched, tan, 30 rolls/cs	MDS089001		9100		2081
Co-Flex LF ² , 2" x 5 yds stretched, tan, 36 rolls/cs	MDS089002		9200		2082
Co-Flex LF2, 3" x 5 yds stretched, tan, 24 rolls/cs	MDS089003		9300		2083
Co-Flex LF2, 4" x 5 yds stretched, tan, 18 rolls/cs	MDS089004		9400		2084
Co-Flex LF ² , 6" x 5 yds stretched, tan, 12 rolls/cs	MDS089006		9600		2086
SELF-ADHERENT BANDAGE, STERILE, Latex-Free	MEDLINE		ANDOVER "Co-Flex LF2"		3M "Coban"
Co-Flex LF2, 2" x 5 yds stretched, tan, 20 rolls/cs	DYNJ089002		9200S		
Co-Flex LF ² , 3" x 5 yds stretched, tan, 20 rolls/cs	DYNJ089003		9300S		2083S
Co-Flex LF2, 4" x 5 yds stretched, tan, 20 rolls/cs	DYNJ089004		9400S		2084S
Co-Flex LF2, 6" x 5 yds stretched, tan, 18 rolls/cs	DYNJ089006		9600S		2086S

MEDLINE DYNJ066002		COVIDIEN	
DYNJ066002			
		2283	
DYNJ066003		2394	
DYNJ066004		2502	
DYNJ066006		2554	
MEDLINE		COVIDIEN	
MDS066002		1418	
MDS066003		2059	
MDS066004		3175	
MDS066006		3489	
MEDLINE	J&J	COVIDIEN	3M
MDS067002	9052	6242	CMW02
MDS067003	9033	6243	CMW03
MDS067004	9034	6244	CMW04
MDS067006	9036	6246	CMW06
	MEDLINE MDS066002 MDS066003 MDS066004 MDS066006 MEDLINE MDS067002 MDS067003 MDS067004	MEDLINE MDS066002 MDS066003 MDS066004 MDS066006 MEDLINE MDS067002 MDS067002 MDS067003 MDS067003 MDS067004 MDS067004	DYNJ066006 2554 MEDLINE COVIDIEN MDS066002 1418 MDS066003 2059 MDS066004 3175 MDS066006 3489 MEDLINE J&J COVIDIEN MDS067002 9052 6242 MDS067003 9033 6243 MDS067004 9034 6244

NEED SOMETHING YOU CAN'T FIND IN THIS BROCHURE?

This brochure contains hundreds of Medline manufactured products. But if you can't find something you need, please ask your Medline Sales Representative for assistance, call 1-800-MEDLINE (1-800-633-5463) or consult our online catalog at www.medline.com.



Medline United States 1-800-MEDLINE (633-5463)

www.medline.com | info@medline.com

Medline Canada 1-800-396-6996

www.medline.ca | canada@medline.com

Medline México 01-800-831-0898

www.medlinemexico.com | mexico@medline.com

We reserve the right to correct any errors that may occur within this brochure. Some products may not be available for sale in Mexico or Canada. Please contact your Account Representative for additional information.

©2011 Mediline Industries, Inc. Mediline is registered trademark of Mediline Industries, Inc. Adaptic is a registered trademark of Johnson & Johnson Corporation. Avant Deluxe is a trademark of Mediline Industries, Inc. BIOGUARD is a registered trademark of Derma Sciences, Inc. Bitser Heal is a trademark of Mediline Industries, Avant Gauze is a registered trademark of Mediline Industries, Inc. Band-Aid is a registered trademark of Johnson & Johnson Corporation. Bulkee II is a registered trademark of Mediline Industries, Inc. Coban is a registered trademark of 3M. Co-Flex is a registered trademark of Andover Coated Products, Inc. Conform is a registered trademark of Tyco Healthcare Group. Curad is a registered trademark of Mediline Industries, Inc. Curasilk is a registered trademark of Beiersdorf Aktiengesellschaft Corporation. Curious George is a trademark of Houghton Millin Co. Curi-strip is a registered trademark of Wedline Industries, Inc. Certain is a registered trademark of Houghton Millin Co. Curi-strip is a registered trademark of Upon Durapore is a registered trademark of Johnson Corporation. Durapore is a registered trademark of Johnson Corporation. Durapore is a registered trademark of Tyco Healthcare Group. Kerlix is a registered trademark of Wedline Industries, Inc. Mediline Industries, Inc. Soft-Wrap is a registered trademark of Mediline Industries, Inc